Nidle=r

JETSH

—All fordreams

FLE <WAVE

WP series

&= H R IROEN

A High precision reducer

EiFtEaeA (i) BRAE]

NIDEC DRIVE TECHNOLOGY (ZHEJIANG) CORPORATION



IR PE SR IE R IR R Y57

"Relentless Refinement of Technology",

FLEXUWARVE

FLEX WAVE




ERBEF 5 AR5 DU #E
BRI

BE A B EE TR, A T H
BRI,

P28 A = SRIEIN, $ 3445 2 15 AR E AN BY
B FERS.
BITCRESEFTHRRNE,
ERTANHAEHEERNBEERR.KE
Lb . K PR B9 IR E A o

“FLEXWAVE” . iU #i&, RANZ#E,
TERERTENL 2R AR AR & & #h 4iE

NIDEC DRIVE TECHNQLOGY

ORPORATION is a global leader
in various high precision gear,
technologies. Based on increased
demand for higher<accuracy from
machine tool and robot manufacturers,
we've utilized our expertise to develop
a new gear reduction mechanism.

This mechanism, called Flexwave,
addresses the need for high torque
density in a lightweight, compact
package, combined with zero
backlash and high®#edtction ratios.

As a result, magufacturers of high

“performance gobOtS, machine tgols
and other ag@if@Mation equipment
will see isereased performamce and
compefifiveness in theirfespective

)@i’kets.

1k 25 B AL

Tractioning Your Future

INDEX

LineUp/Z &R 3
LineUP / Parts configuration

BORAAE 4
Reduction mechanism
SEHRARRRLL 4
Parts name / Reduction ratio

BSHEE 5

Model selection

=3ERB2

High torque type B2

TR S | A 6
Reducer model / Specifications

R& 7
Dimensions table

BEHIHE (MR 12
Life estimation (Elastic bearing)

e E ) 13
Life estimation (Main bearing)

PN S Al 15
Maximum load at input shaft

BT 16
Lubricant information

LEBE 17
Attachment fixture requirement

(ERPabiE 18
Transmitting torque

HNEMUIZIE 21
Input section structure

EEEM 22
Installation and assembly instructions

B R E 23
Motor installation procedure

AR 24

Characteristics data

Flat type D
BORNELS | FAE

Reducer model / Specifications

IAES

Dimensions table

FepitE (HEEHhR)

Life estimation (Elastic bearing)

FopitE (EHhE)

Life estimation (Main bearing)

BNBVFRE

Maximum load at input shaft

RE3i=pill
Lubricant information

oy
LEEE
Attachment fixture requirement

&Sk

Transmitting torque

EEE

Installation and assembly instructions

Mg

Characteristics data

47

48

53

54

55

56

57

58

60

61

Gearhead type
IBIRNELS [ FE

Reducer model / Specifications

R

Dimensions table

FopitE CHEEHUA - THhR)

Life estimation
(Elastic bearing & Main bearing)

BT & £S5

Lubricant information & Transmitting torque

69

70

75

76



x|

i
FLEXWAVE Y
Lineup
B & Open type LR kit Cl‘osed type
WPU-[ ]-[ |-SDH WPC-[ |- |-CR
WPU-[ I-[ 1-SRH WPC-[]-[]-CD

(AT (R4 Hollow unit

[]
WPU-[]-[]-SRJ WPU-%-D-CDH
[ZEEEL RN Input shaft unit

WPG-[-[1-CR
R

WPS-[ ]-[ |-SD
WPS-[ |-[ ]-SR
BHEEEL Simple unit

g%ﬂg ,ftl:*@}ﬁ Fithie CHEE. TY)

Flex gear (thin / flexible)

Parts Configuration

B T
AR

L (HER)
Cam(elliptic)

SEEEMR (CHEE, THY)
Elastic bearing(thin / flexible)

Internal gear



JERIEAT LA

Reduction Mechanism

SRR EEERA ZEEREHREREZ,

RMEERSENERERRE KB D LZEWS,
EEARER, ORI £ 75 @ ek 360°6T,
ZMERSBFENEAEBRMAERS R EG
BHEHESLD

‘Flex gear and elastic bearing take elliptic
shape with the cam inserted.

‘Flex gear and internal gear are engaged at
both ends of the long axis of the ellipse in a
stable manner.

‘With the internal gear fixed, when the cam
(input) is rotated clockwise, the flex gear
(output) rotates counterclockwise. And its
rotational speed is determined by the tooth
count differential between two gears.

YA il FF Ay
g B,ftF%*/J\ Closed type Open type
Parts Name H
Internal gear

FMiER

Flex gear

Flex gear

777777 HEE R

Fits — |

] I;I]

Elastic bearing

L Ep AR

Elliptic cam

T T

RiE%

Internal gear

WER %

Elliptic cam

PRI L

Reduction Ratio

Output

TR =

Reduction ratio

X ENIRSE 5 [ 5 bt hede 7 AR R X HWINRAE 5 [ 5 5 hedE 75 AR E]
*The input and output rotation directions are opposite. *The input and output rotation directions are same

@ R REA SR AT RERLE

R represents the 'Ratio’ figure in the specifications table on the next page.



AU 35ETE Model selection

BESRERIE

Model selection flow

HiATEIN ERERN LBy S 5t

PSRBT - FIRE - RRKE
cRABEAE - RERE - HEfAE

 JIEE AT
Reducer operating conditions

- Radial load
- Axial load

- Average output torque
- Maximum output torque
- Average rotation speed - Moment load

- Maximum rotation speed

<€

EINALCE S LS

Re-evaluate the operation conditions

I EERENE S

Temporary selection of a model

i EEE AT o

Calculate the life span of the elastic bearing

NN S D e

Calculate the life span of the main bearing

FRiAFI N7 S fe

Calculate the load condition at the input bearing

NG

NG

HERENE S

Reducer selected

NG

HINERES

Re-evaluation of the model




L

High torque type B2

=hERB2

High torque
type B2

NP N || = Y
SR B S Reducer Model Nomenclature ¢34
oc Pt
g8 M
== &
s =
oo ~
WP C —135|—| 50 [—|CR|—|*%*%|
= s 2Ty S
ERE i -] R~ RELL 5 FiKg 3
Series name type Size Ratio Code Specifications ‘ﬁ%
WPZ5I C e 35 50 CR WAMEE o 5
Component type 29 Eﬁ
R
pos | g3
WP Series S (RRARE 42 80 SR Input shaft 5z &
Simple unit type dliamenen 3° i
U:4aan 50 100 etc. S
AEE (GFRNGH) SRH 2C = |
4A-AFA (ches SR
/HIZ.IE:(EPIEE) 63 120 se &
IUmt ty|c%ef . g5 it
nput shaft unit 2 B8
Hollow unit 80 160 SRJ == IH
Z
=
@RI Availability AR RERSR %o Sz @ |
. . For the code details, please check the og Al
Ratio mat\r\\>\< Dimensions Table. = A
g _ AR 50 80 100 120 160 £ g %
@ 2 IF
o 35 & f
- 5|
50 g /\ﬂ
63 g B
80 z il
3
NN e . 5
SR A FWAE Reducer Specifications : |
%2 %3 % 4 %5 %6 %7 8z =
— €8 Iz
BT BFmA BERK BIFFY Arme =& dia] g3 ?
R EL yap:sl T 75 BANEIR BN R TP gg TE*
RT—'— Ratio Nominal output Maximum output | Emergency stop Nominal Maximum input ' £ -
Life
Size ®1 torque torque torque input speed speed s
R
[Nm] [Nm] [Nm] [r/min] [r/min] [hours] - —
50 7 23 46 E L;f
35 80 10 30 61 3000 8500 ER
100 10 36 70 ccz picl
50 21 44 91 3
80 29 56 113 ®
42 100 31 70 143 3000 7300 23 1§ |
120 31 70 112 é = Z\
50 33 73 127 °g b
80 44 96 165 S %
50 100 52 107 191 3000 6500 et
120 52 113 191 |
160 52 120 191 10000 iz
50 51 127 242 s 2 % %
80 82 178 332 33 I
63 100 87 204 369 3000 5600 a
120 87 217 395
160 87 229 408 —
2 B
50 99 281 497 § % ol
80 153 395 738 €7 =
80 100 178 433 841 3000 4800 % B
120 178 459 892 el
160 178 484 892
X1 IERRERNPATA LA, KSR *1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table. g E
%2 I NFE 92000r/min BSBIFRAE *2 The maximum allowable value at the input rotation speed of 2000r/min 8 &
X3 B EENNATRAE *3 The maximum torque when starting and stopping. 2 ?E
X4 REBHHNBTRAE *4 The maximum torgue when it receives shock. g
X5 BEUEF, FHRMARRNBIFRAME *5 The maximum average input speed. g
X6 EFOdiEd, RARRNBFRAE *6 The maximum input speed. & |
X7 I NFZIR2000r/min, BFELE JE By B9 e B (8] *7 The life time at the input rotation speed of 2000 r/min and nominal output torque.
FLEXWAVE WP%5 6




High torque type B2 [z5%282]

R~ 3% Dimensions Table

B8 A
Closed Type, Component

WPC-[]-[]-CR

LE
LF LM
H |G
HD cy
X
2-LT N-@LU
Joy RO.3LLF
- M-@ST — v
H e Ny (D\’?\
W(JS9)
= o—H % = = \
SR S glnle 1 [1L Y
ol Q| Q| &m| €05 Q| Qg \ / hd
— wv - /
S 8 —H S ' N
57 /
[ . S
&y = -
a /—\ S @SH (H7)
S s S
SU . 2-M3x4 == =
= I\‘EI
R~ Weight Moment of inertia
| Size 7 2
1 kg X10"kgm
1 @ 35 0.10 0.0362
42 0.17 0.0831
INPUT SHAFT FOR 35842 20 0.26 0.190
63 0.43 0.414
80 0.91 1.54
[mm]
52 LA | LB |LC | N | LU | LT |LE|LF | LG | LH|LM|SG| SH | SL | w
35 | 44 | 38 | 50 8 | 35 | M3 | 285 | 175 | & 2 11 14 6 | 185 | -
42 | 54 | 48 | 60 | 16 | 35 | M3 | 325 | 20 | 65 | 25 | 125 | 18 8 | 207 | -
50 | 62 | 54 | 70 | 16 | 35 | M3 | 335|215 | 75 | 3 12 | 21 | 12 | 215 | 4
63 | 75 | 67 | 8 | 16 | 45 | M4 | 37 | 24 | 10 3 13 | 26 | 14 | 216 | 5
80 | 100 | 90 | 110 | 16 | 55 | M5 | 44 | 28 | 14 3 16 | 26 | 14 | 236 | 5
BRIl 1 | su|sa|ss|sp| M |sT|sv| HD|ocCA|cCB|oOX|cCY|cz
35 - 25 | 17 | 11 | 23 6 | 45 | M3 | 24 | C03|C03 | 171 | 1 38
42 - 3 19 | 10 | 272 | 6 | 55 | M3 | 3 | Co5 | C03| 19 1 45
50 | 138 | - 24 | 16 | 32 8 | 55 | M3 | 3 |C05|C03 |25 15 | 53
63 | 163 | - 30 | 20 | 40 8 | 65 | M4 | 3 |Co5|C03| 23 | 15 | 66
80 | 163 | - 40 | 26 | 52 8 | 88 | M5 | 32 | Co5 | CO5 | 268 | 15 | 86

1 XFRABAFESE, BSREMBRTE,
¥2 CX. CY. CZAIFBANEERINR T,

*1 For details in the input section, please check the drawings.
*2 Inner dimensions of CX, CY, CZ are recommended dimensions.



MR AL E

Closed Type, Unit = BIE5E
R~ Weight Moment of inertia
Size T
WPU-[1-[]-CR = e
& 0.50 0.0362
42 0.68 0.0831
50 0.95 0.190
63 1.5 0.414
80 3.3 1.54
LE
LF LM
H_ LG K (g
CcY O-rin N-LU
(A) 9
O-ring — NAT
- A - NN
— 4 v&m)
— < —H — h \
=olT & = /
<|8|Zf9 N ZCIINIES | 14 \
¢ c Pany
2(8|z/8l RNER &0 e
Q| Q \ N1 /
%K | — /
ul g . —— pd
HD — O
= @SH (H7)
2-M3x4 X SL
i R~t O-ring
@ Size A B
35 29.0 X 0.5 S50
42 34.5 X 0.8 S56
INPUT SHAFT FOR 35842 50 | 4064 X 1.14 S67
63 | 53.29 X 0.99 S80
80 S71 S105 [mm]
gz\_g LA LB LC LD N LT LU LE LF LG LH LK LM DB SG
65 65 56 73 31 8 M4 4.5 41 27 7 35 2 14 38 14
42 71 63 79 38 8 M4 4.5 45 29 8 4 2 16 48 18
50 82 72 93 45 8 M5 55 | 455 28 10 5 3 17.5 56 21
63 96 86 107 58 10 M5 55 52 36 10 5 3 16 67 26
80 125 | 113 | 138 78 12 M6 6.5 62 45 12 5 3 17 90 26
)gz\_g SH SL W T SU SA SB SC M ST HD CX CY Ccz
85 6 18.5 - - 2.5 23 11 8 6 |[M4X8| 95 1.6 1 38
42 8 20.7 - - 3 27 10 7 6 |[M5X8| 95 1.3 1 45
50 12 215 4 13.8 - 32 14 10 8 [M6X9| 9 1.5 1.5 53
63 14 21.6 5 16.3 - 42 20 15 8 |M8X 10| 12 3.4 1.5 66
80 14 23.6 5 16.3 - 55 26 20 8 [MiOX12| 15 52 1.5 86

¥ XTFRABMIFS, BSREBRTE,
X2 CY. CZHIPERERINRT,

*1 For details in the input section, please check the drawings.
*2 Inner dimensions of CY, CZ are recommended dimensions.

FLEXWAVE WPF5

BhEEB2

High torque
type B2

wE

[ JifE SR

suoneolioadg
/ [oPOIA Jeonpay

st ‘

a|ge] suoisuawiq

UOIBWLISD )1

m
B

p) M 5 Sh ‘

(Bupesq opse(3)

(i

.
G

(Burresq urey)
uonewnse oy
¥ | Gt IR Shaft

Yea >

Jeys indul
18 PBO| WNWIXBIA|
R F D]

I

7

uoleuLIojUl JUBOLgN|

i

Juswalinbal
2INIX1} JUBWIYOBNY

N i i

M

af

el

oF

A

anbloy Bumiwsuel|

ainjonis

uonoes induj
K

suononJsul
Alquiesse

ainpaooid
uone|[eisul JOJo|\

eleq sonsueIoRIBYD

8



High torque type B2 [s152B2

R~ 3% Dimensions Table

A BmEAEE
Open type, Simple unit

i

=2 RN
R~F Weight Moment of inertia
WPS- |:| - |:| -SR Size " 2
kg X10"kgm
85 0.39 0.0362
42 0.55 0.0831
50 0.79 0.190
63 1.3 0.414
80 2.7 1.54
LE
LF LM
SC LJ _LH
LG
cY
N-LT
g ®\’?~
/ W(JS9)
v 4 I
E E % OQ?J RS, g E - / :6
alol SIESIRU] - \
wv| —J|lwn \
QI Q QI Q N
] )
S= X @SH (H7)
RIRY o
& ) _+_
oL /’T‘\} )l* ‘ *‘\
Braeual | Pieno fEQUAL‘&{
i | | ! [ |
(& A
O W L (J
! R
"N-LT" "N-LT"
INPUT SHAFT FOR 35842 ARRANGEMENT FOR35  ARRANGEMENT FOR 42
[mm]
g;g LA LC LE LF LG LH LJ LM SG SH SL W T SU SA SB
85 44 50 28,5 | 28,5 6 7 141 5 14 6 18.5 - - 25 64 48
42 54 60 325 | 265 | 6.5 7.5 16 6 18 8 20.7 - - 3 74 60
50 62 70 33.5 29 7.5 8.5 17.5 4.5 21 12 215 4 13.8 - 84 70
63 77 85 37 34 10 12 18.7 3 26 14 21.6 5 16.3 - 102 88
80 100 110 44 42 14 15 23.4 2 26 14 23.6 5 16.3 - 132 114
RSl sc | sp| M | st |calor|cz|ov|ow| N LT
€86 24 70 8 35 | C04 1 38 1.7 31 8 M3 X5 ¢ 35X6
42 3 80 12 35 | C04 1 45 2.1 38 16 M3 X 6, @ 3.5 X 6.5
50 3 90 12 35 | C04 15 53 2 45 16 M3 X6, @ 35X 75
63 3.3 110 12 45 | C04 | 15 66 2 56 16 |[M4 X7 ¢ 45X10
80 3.6 142 12 55 | C04 15 86 2 73 16 |M5 X 8, @ 55X 14

¥ XKTFRAEBMLFS, BSREBRTE,

#2CV. CW. CY. CZRIFERERINR T,

*1 For details in the input section, please check the drawings.
*2 Inner dimensions of CV, CW, CY, CZ are recommended dimensions.



BhEEB2

High torque
type B2

L B
82 18
g2
: =
r | Pag=1| N - -
FFE A58 (A=)
i o
Open type, Unit (hollow shaft) = e : )\_?r
UAS
R~t Weight Moment of inertia §' ®
WPU-[1-[]-SRH - :
kg X10"kgm S
=2
35 0.72 0.0924 o
42 10 0.207 5e 2
o2 af
50 1.4 0.408 :2 o
63 2.1 1.06 3% =
80 42 272 *;E
LE 55 5
LG LF LH o2 _ﬁ_
L LK L EQO; g
= > EE
h
f X
235
| — | | g
Zlz|z = V=1 B 2
4| 3| EINE |
.| e A3 S Z‘\ﬂ
s B
2
== g
LQ — - L
8z =
€8 It
3z =
3-5U 33 18
+ 2 B
A TR g
SN ] ;
fa/wzgoum \ P ts/20e0uAL ¥ -
LA ; 4 5
% s 7
e -7
INPUT SHAFT FOR 35447 ARRANGEMINT FOR 35 ARRANGENENT FOR 42 g
[(mm]
Eq LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR 58 3
ize g fi
)
35 44 36 54 70 | 525 | 205 | 12 20 75 8 9 25 55 6.5 &
42 54 45 64 80 | 565 | 23 12 | 215 | 85 8.5 10 25 55 6.5 5= = |
50 62 50 75 9 | 515 | 25 5 21.5 7 9 10.5 - - - ég;ﬁ %
373 m
63 77 60 90 110 | 5555 | 26 6 23.5 6 85 | 105 - - - ] M
80 100 | 85 115 | 142 | 655 | 32 7 26.5 5 9.5 12 - - -
2= @ |
R | sa | s |sc|so|SsE| s | m | sT|su| N LT 38 =
ize ) ?
35 64 - 14 20 74 36 8 35 M3 8 | M3X5 ¢35X%X115 S
42 74 - 19 25 84 45 12 35 | M3 16 | M3 X6, ¢35X12 g E
50 84 | 255 | 21 30 95 - 12 35 |[M3X6| 16 | M3X6 ¢35X135 8 %
63 102 | 335 | 29 38 115 - 12 45 M3X6| 16 |M4X7 ¢45X%x155 8
80 132 | 405 | 36 45 147 - 12 55 |M3X6| 16 |M5X8 ¢55X205 v |
FLEXWAVE WPZ5 10



11

S

High torque type B2 [s152B2

R~ 3% Dimensions Table

F A S E (SN Hh)
Open type, Unit (input shaft)

= TR 7746
R~ Weight Moment of inertia
WPU- D - D -SRJ Size 2 >
kg X10"kgm
88 0.65 0.0266
42 0.91 0.0666
50 1.4 0.155
63 2.1 0.382
80 3.2 1.28
LE
LG LF LH
L LK LJ
M-gST
FO@ TR
/ | N LR
B . SC sV gog La (
/ U \
|/ N =| o = =
(@} =
| 2
(E | :
— b
Lp
- m 4 -/"H\;
GFL = SN F ]
Fomeaua P we0paual ¥
N LAy g
.\ ‘ )
L \T'X \‘1“%4—'{‘
INPUT SHAFT FOR 35342 ARRANGEMENT FOR 35 ARRANGENENT FOR 42
[mm]
§g LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
85 44 36 54 70 50.5 20.5 15 15 2.5 8 9 11 - -
42 54 45 64 80 56 23 17 16 3 8.5 10 12 - -
50 62 50 75 90 63.5 25 21 17.5 3 9 10.5 - 16.5 20
63 77 60 90 110 72.5 26 26 20.5 3 8.5 10.5 - 22.5 25
80 100 85 115 142 84.5 32 26 26.5 5 9.5 12 - 22.5 25
§Z\_§ SA | SB | sc | SE | sv |sw | M | sT| su| N LT
85 64 6 - 74 - - 8 3.5 - 8 M3 X5 ¢ 35X 115
42 74 8 - 84 - - 12 3.5 - 16 M3 X 6, 9 3.5 X 12
50 84 10 8.2 95 3 3 12 35 |M3 X6 16 M3 X 6, 3.5 X 13.5
63 102 14 11 115 5 5 12 45 |M5 X 6 16 M4 X7 ¢ 45 X155
80 132 14 11 147 5 5 12 55 M5 X6 16 M5 X 8, @ 5.5 X 20.5




=hERB2

High torque
type B2

AN N . . . . . D e
EHepi1tE GCEBERNA)  Life estimation (Elastic bearing) ¢2 1
25 |IR
g2
gz #
7] % %
~ A b - ~
BEEMAEMITE
Life span for the elastic bearing ;? ;
) )
: ®
SR T ; ’
Operation cycle example UARCIpAL:El ' T, 3 2
Working torque } T, | T, mL &
; Be &
| B la] sz H
i ! Time §§. %
| ! 5‘3 E:E
n, e°
Ny N3 ®
5%
R g 1
%Jetggt otation | ¢, | t, |ty | t, ‘ B7a] L%D) § l%:
Time =2
]
%
OF w58 | ZRARMEIENITE 35 %
c X )\
Calculation formula for output torque ;%% i
T A
3 3 not 3 & IF
PN too | Nm Taoms| Mt TNt Tl oot Mo e T 7
Average output torgue Nyet,+n,t,een -t ﬂf
g B
BRI o | Nm [0 = T Te e T, MEAME 2
Peak output torque value Tmo = Largest among T,, T,, - T, g
BERINRREENEABTTFRABHENT - 1 ———
Please make sure the peak output torque is below the maximum output torque in the specification table § 5 ﬁ
=9 =
. - e 33 8B
QT HMNER | REWMNERNITE 2l e
Calculation formula for input speed <

. |
TR R nao | t/min nao= Tt ettt it i €
Average output rotation speed ti+ bttt ER
a 1
g
BRERbEE amo | rmin 0= Nz 0y MERAE €
Peak output rotation speed nmo = Largest among n,. Ny, *** N, ”_7?’7
=g A4
2z A
AN R - . - - - 5§
AT 6 e nai | r/min  nai=nao X R (R= EiEt:) (R=ratio) 5 %
=1
ESHARE i : = = A = rat 27 3 |
Peak nput spacd value nmi | r/min - nmi=nmo X A (R = Fiktk) (R = ratio) 28z i
535 =
o e o . . 525 =
BRIARSHMANERERABTTFRERAFRRELT 3 >IN
Please make sure the peak input speed value is below the maximum input speed in the specification table 3
@FHEfiENitH P
Calculation formula for life span §§ Al
SEE I G S BT[] - tfar A [ nar : 5
Part life span for the elastic bearing Lhe h Lhe = 10000 % Tao X nai RS
. e 0wz |
FENE ror | Nm | MEERRFZEETISHE s 0
Rating torque Nominal output torque in the specification table & ;}:
2 &
TN ; - 2
Rating input rotation speed nar r/min 2000 r/min 5 |
FLEXWAVE WPFZ 12



13

W =AU (S SORF 4l

High torque type B2 [s1%%B2|

Fon1t 5 (E5H)

Life estimation(Main bearing)

Main bearing specification(Cross roller bearing)

RHETRER (Ea=s BASISIME NG | BRHSTENT BDEIIE FIFERI
z7 R~t Pitch circle diameter Offset Basic dynamic load| Basic static load Allowable Moment
e ) of the bearing rollers rating rating moment rigidity
Series Size
Dm L © Co Mal Km
m m N N Nm X 10*Nm/rad
&5 0.0350 0.0095 4700 6070 41 4.38
42 0.0425 0.0095 5290 7550 64 7.75
WPU-[-[ ]-CR | 50 0.0500 0.0095 5780 9000 91 12.8
63 0.0620 0.0115 9600 15100 156 24.2
80 0.0800 0.0130 15000 25000 313 53.9
& 0.0500 0.0162 5800 8600 74 8.5
42 0.0600 0.0184 10400 16300 124 15.4
WPS-[]-[ ]-SR | 50 0.0700 0.0195 14600 22000 187 25.2
63 0.0850 0.0241 21800 35800 258 39.2
80 0.111 0.0299 38200 65400 580 100
& 0.0500 0.0217 5800 8600 74 8.5
42 0.0600 0.0239 10400 16300 124 15.4
WPU-LH -SRH ) 0.0700 0.0255 14600 22000 187 25.2
WPU-[_-[ -SRJ ' ' '
63 0.0850 0.0296 21800 35800 258 39.2
80 0.111 0.0364 38200 65400 580 100
D
FiEEGmITE
Life span for the main bearing Fr,
Fr, ;
W zRRE RIS | N
Operation cycle example Radial load ! Fry TgnleEﬂ
Fa,
Fa,
B 15 S 7 Fo o
Axial load Fa, i8]
! Time
ni , 2 ng |
5 R "N\ n, \
Output rotation B &)
speed 1l [ty ]ty ‘ Time
W ShER A fE
External load L
Lr L ?'- L
| L i (] ] < H
ARV | |
| £ £ r e
,J‘ a o L [a)] [
© £
- LFa a
— O
‘ L ] S




=hERB2

High torque
type B2

/_\ AN . . . . . - e
EZepi1tE (F80A)  Life estimation(Main bearing) ¢
g2
sg #
7] % %
ORRKAFHRENITE -
Calculation formula for the largest working moment o m |
3
g ~f
BRADEERE _ _ . 2 £
peak%NOrking ;nomem Mm Nm Mm=Frm - (Lr+ L)+ Fam - La :
EAREAE e | N A= FOL e 9RO °
Peak radial load Frm = Largest among Fr,, Frp, - Fr, a5 = |
e
AT Fam | N FEM=Fa) Fae - Fa, EAMHE :3 B
Peak axial load Fam = Largest among Fa,, Fa,, --- Fa, 55w
EHFARAAHRENTFREEUT 2

Please make sure the peak working moment is below the maximum allowable moment

(Burreaq urey)
UOIIBWIISD )17

@FizmnfE/ FIMm e/ PR HRR FHRERENITE

Calculation formula for the Average radial load, Axial load, Average output rotation speed, Average

TRE >3 | () SIS Sh Al | o

. S <
working moment 28
w 3
55
. 10 10 10 5 B
e e Fra | N Fra—’%J 1t Fr| 2 e el o Yoot e bl i[5 .
verage radial loa - 2
& npetitn,ctteetn,t, %
10 10 10 E; l‘ﬂ
P L0 ot P |5 4 et Fa % eent P | a5 : B
Axial load Faaii N Faa=7% 2
nysty+nyety+ee+nt, El
3
Tk R . Nyt +n,oteeen, ot 5
: nao | r/min  nao= —
Average output rotation speed b4ttt 3z %
58 &
Yt 11 E
WAl E,r‘)'_‘\% — . . =] i =
AR T e Ma Nm  Ma=Fra-((r+Ll)+Faa-La g
(o)

5 &

2 B

3 %

OAFARY chSENERARFTNITE 3 &
=
Calculation formula for the Loading factor, Equivalent radial load §

- +’;7j o S156, X6 =10, Y0 =045 2 0

ra a/Dm 58 %

TR ] : 0

Loadi Xc, Yc s

oading factor e )

aa > 158, Xc =067, Yc =067 =

Fra + 2Ma / Dm e
SN EENE e . 2és 3
A e Pc N Pc= Xc - (Fra + 2Ma/Dm) + Yc - Faa 353 W

@FHAEFHNENHE i e
Life span for the main bearing %é &2
T Iiﬁﬂfﬂhﬁﬁﬁﬁﬂ Lhe h Lhe = 10° C 3 > 3
ife span for the main bearing = . * . L
60-nao | fw-Pc o
1.0 D FEEREHRHE no shock 2 ;‘;i
HERE PRV AE i z &
Impact faZtor fw - 1.2 PERBECF RTEEET  with some shock %
1.5 fEREREDAERY  with shock and vibration &
FLEXWAVE WP%5 14



High torque type B2 [z5%282]

N E AT T {ar Maximum load at input shaft

W AR (FIRE, A5

Bearing specification (Open type, Unit)

HA A A B
Bearing A Bearing B
Z75 R~f| EXchSTERF BEARBHSEE 1 EARTHSENE e BEARESHUE A fa a b
Series Size | Basic dynamic loadrating | Basic static load rating | Basic dynamic load rating | Basic static load rating
C Co C Co
N N N N mm | mm
65 4000 2470 4000 2470 16.5 | 26.5
42 4300 2950 4300 2950 175 | 29.5
WPU-[_-[ ]-SRH| 50 4500 3450 4500 3450 16 | 26
63 4900 4350 4900 4350 17 29
80 14100 10900 5350 5250 20 | 355
85 2240 910 1080 430 245 | 21
42 2700 1270 1610 710 275 | 23
WPU-[ - -SRJ| 50 4350 2260 2240 910 323 | 252
63 5600 2830 2700 1270 37.3 | 29.2
80 9400 5000 4350 2260 39.4 | 3841
A - HHAEA -
Bearing A ] Bearing A -
Hh7AB HAB
4 - Bearing B Bearing B
_\‘éj‘ Ce \i
oap e
a b b
W B (FR AR 2000r/min. & &5 BY18] : 10000h)
Maximum load (Average input rotation speed : 2000r/min, Life span : 10000h)
800 35 500 35
\ —A2 —1)
450
700 \ e 50 \ 50
400
=z \ ——80 =z 350 AN ——380
500 300
1 400 fE 250 \
® 8 N\ \ F S 200 N
— 300 =
E 8 \ \ FH S 150 NN AN
© ©
& E 200 AN NGl I
DC 100 \ \ \ ‘I 1(5)2 AN \\i\ \
NS N NN
0 T T T 1 0 T T 1
0 100 200 300 400 0 100 200 300
Him AT Fa [N] HmnfE Fa [N]
Axial load Axial load




=hERB2

High torque
type B2

SE & Jubricant information gz
S5 iR
S(é Ml
s M
7] % %
A E B fE R N
Grease = _Rj
Sumiplex SFB No.1 (HA I EBE Ik =FE) Sumiplex SFB No.1 (SUMICO LUBRICANT CO., LTD.) g &
FERAEETTE:0 ~ 40°C (If1EEE) Operating temperature range:0-40TC (ambient temperature) %
55|
A1 B B TR R 1
Grease application ég S
5
TR T EREBENSEBALRF A BT Please apply grease according to the table below. — ;; -
ic—? S
v 2 ;8 o
W E BRI RER = Grease application g3 g
RIBRENNZESE @HMNAER. @ L ET) RE, ZERKEBAUCHIRHEE, o z
(BENDEHIAERE, 7R 7 C (M) e HE.) -

IFEFHANASSY ~ R BN EE = (8] AY50% BB o

==
’3; A
BHFFERITERAETR B, EEBARE, o] e %
=
. . ] ¥
-Thg quantity of grease applied to.C sh.ouldl be SSBRER(IT Applied part 2 f
adjusted depending on the mounting direction. (=553 . e : =
C of the unit type product is already filled with Size VR
the same quantity of grease as horizontal A B Hgfizﬁ?wzal Vérﬁil VeStE\—(fgwn D gg :.gj.
mounting. b 25
‘50% of the space between input assy and 35 0.3 0.3 6 8 9 0.3 S
casing inner wall should be filled with grease. 42 0.5 0.5 10 12 14 0.5
‘If the amount of grease is not sufficient due 50 08 08 16 18 o1 0.8
to case design, please contact us. 3z &
63 1.5 1.5 30 35 40 1.5 <8 =
80 3.0 3.0 60 70 80 3.0 § § ﬁﬁi
W EEFREREBL Grease application location e
. |
["WPC-[J-[J-CR | [ "WPU-[J-[J-CR | ["WPS-[J-[1-SR | e
77
a 7B
H g
= A A S
:6 Al
() C 29
Horizontal Pre-applied 58 X
= e g
E
s3: X
Casing ‘3% 5 %
HHFEZRIA#I50% e 5 M
Fill 50% of the gap in volume a
(M)
Vertical |
down E 35 B
| g2 1l
B = 52 =
HNASSY HAASSY N 5 =
input sect?(lm assembly - M § 2;
HAASSY " 7
HAASSY Em— HWAASSY |
input section assembly g) #%
5 M
(k) 2 ¥
Vertical z &
up :?
S IEHI50% R\ E50% . —
FLEXWAVE WP%5I 16



17

i

High torque type B2 [s152B2

o

£=8

W ZEFBE Attachment fixture requirement

| WPC-[]-[1-CR |

WHEAZEHT

Recommended tolerance

WEAEHT

Out{aut © ém -
section =y 8
R *,“g ég
fib| 2
L[ b A # '//
//A
TEEE [mm]
gq 35 42 50 63 80
1ze
a 0.015 0.015 0.018 0.018 0.023
b 0.010 0.012 0.014 0.016 0.020
c 0.013 0.013 0.015 0.018 0.020
d 0.015 0.015 0.018 0.018 0.023
e 0.015 0.015 0.018 0.018 0.023
f 0.012 0.012 0.014 0.016 0.016
g 0.016 0.020 0.024 0.024 0.024
| WPU-[]-[]-CR |
(O] b [
L] s A ra
Casing
(2] pE
@ Input “

Recommended
tolerance

Recommended
tolerance

WEAZEHT

section
BNERL

IEXF B Atlachment fixture requirement

section

| WPS-[]-[1-SR |

HHFEAZEH6

WEAEHT

HNER{

HNER{

;
- L[> 14 L[ ¢ A
7
f 7
7 ;
7% 2
RERE [mm]  RERBE [mm]
)§z\_é'— 35 42 50 63 80 )§z\_é'— 35 42 50 63 80
a 0.020 0.020 0.020 0.025 0.025 0.025 0.025 0.025 0.030 0.030
b 0.012 0.012 0.014 0.016 0.016 b 0.020 0.020 0.020 0.025 0.025
© 0.016 0.020 0.024 0.024 0.024 © 0.020 0.020 0.020 0.025 0.025
d 0.012 0.012 0.014 0.016 0.016
e 0.016 0.020 0.024 0.024 0.024




=hERB2

High torque
type B2

£ 5 7% Transmitting Torque f7
g5 ok
82 Al
sg #
2t e 5
TxBL i
Bolting S §
R 22 X [E U0 TR PR g =
BT BL NN REERE, I FNEFEES, ILUEERHIA. g
Please refer to the table below for the bolt tightening torque. |
Please be noted that the transmittable torque varies depending on the bolt count and tightening torque. o5
1

1R 22 X [E 1%

Tightening torque for bolts

(Buleaq urely)
UOIIBWIISD )17

H) ST B A | Gesas) Y S

By R Bolt size M3 | M4 | M5 | M6 | M8 | M10 EWIRZ:SBEX 1290k 5
X[E % [Nm] |Tightening torque 19 | 43 | 87 | 15 | 36 71 Recommended bolt : =
Strength rating above 12.9 g |
iF u
"
T B
=]} T A i s IF
£S5 Gripa. Aan) s
Bolt specifications and Transmitting torque (Closed type, Unit) 77%7
g
ﬁ%i@ﬂ:ﬁfé Output flange attachment § fjj
- Il
R~T Size 35 42 50 63 80 &)
1226 Rt Bolt size M4 M5 M6 M8 M10 5
1R 22N Bolt count 6 6 8 8 8 5
L4HEPCD [mm] |Bolt PCD 23 27 32 42 55 3z %
XE /7% [Nm] |Tightening torque 4.3 8.7 15 36 71 %‘3} ;;
5% [Nm] |Transmitting torque 56 106 238 566 1177 32
;_<':
?’%Wﬁi@ (CR) Internal gear attachment %
R~t Size 35 42 50 63 80 g5 &
1R R~F Bolt size M4 M4 M5 M5 M6 53 3
RN Bolt count 8 8 8 10 12 2 4
5 Q
ZHPCD [mm] |Bolt PCD 65 71 82 96 125
ZE /% [Nm]  [Tightening torque 43 43 8.7 8.7 15
£577%8 [Nm] |Transmitting torque 210 230 430 629 1392 £3 W
22 A
fD(QD E‘\
RER R s L
Internal gear attachment ~ N——— 15
535 B
c2s =
= 5 M
ZERL A= ETENE
Output flange S8
attachment \ g S pl}
N I I <3 &
5 3t
5 =
: 7
5
]
s I
g ¥
z &
FLEXWAVE WPF5 18



High torque type B2 [z5%282]

£ 5 7% Transmitting Torque

£S5 F75E (GHnm. sherm)

Bolt specifications and Transmitting torque (Closed type, Component)

ZEFMEH Flex Gear Attachment

R~} Size 35 42 50 63 80
B Rt Bolt size M4 M5 M5 M6 M8
1Bz MR Bolt count 6 6 8 8 8

Z£4PCD [mm] |Bolt PCD 17 19 24 30 40
ZE S5 [Nm] [Tightening torque 43 8.7 8.7 15 36
£S5 7% [Nm] |Transmitting torque 41 75 126 223 539

?’%V\]ﬁtﬁg\ (CR) Internal Gear Attachment

R~t Size 35 42 50 63 80

B R~ Bolt size M3 M3 M3 M4 M5

IR 8K Bolt count 8 16 16 16 16

ZHPCD [mm] |Bolt PCD 44 54 62 75 100

ZE /% [Nm] [Tightening torque 1.9 1.9 1.9 43 8.7

f£2 /7% [Nm] |Transmitting torque 82 200 230 485 1048
RERNU

Internal gear attachment

- - ul

REXEHEE

Flex gear attachment

O TFFLEYIEN Reinforcement

MR LENERNERFERRE, BRNERHEF-
HFFLRIRIESR KIBM.

Pins can be added if the transmittable torque at the flex gear interface is not sufficient.
As an option, holes can be added.

Thru hole for pins

Forcing tap

WP-35, 42 WP-50, 63, 80

19



=hERB2

High torque
type B2

L B
82 18
ge M
g A
=] ‘e 5
1 ~
£ 717 FrR) i
Bolt specifications and Transmitting torque (Open type) g _Rj
ZEFMEH Flex Gear Attachment 2
R~F Size 35 42 50 63 80 &
BBLZR~F Bolt size M3 M3 M3 M4 M5 ——
242 E Bolt count 8 12 12 12 12 5o 2
Z£4PCD [mm] |Bolt PCD 64 74 84 102 132 ;;% %
XEH%E [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7 3 3
£577%8 [Nm] |Transmitting torque 119 206 234 495 1037 e” =
= |
Sk g e A 2 5
ﬁzdé[j\]wﬂg Internal Gear Attachment %3 &
R~t Size 35 42 50 63 80 £3 g
B2 R~f Bolt size M3 M3 M3 M4 M5 €s =
BNk Bolt count 8 16 16 16 16 -
ZHPCD [mm] |Bolt PCD 44 54 62 77 100 TR AR
X[&E /)% [Nm] |Tightening torque 1.9 1.9 1.9 43 8.7 SX N
fES/J%E [Nm] [Transmitiing torque 82 200 230 498 1048 g5 %
2 IF
2
ZE]—T | —
s B
H—— TEANER z il
_%\{ Internal gear attachment E
T i 5
Flex gear attachment N 3z %
1
33 8B
22 E
25 &
Q23
= T
TEEFEER = —— ZERIER -]
Q

g8
Flex gear attachment \ H@—r/ Internal gear attachment
‘8= 11

2.N10NJis
uonoes Indu|
O #E

suononJsul
Alquiesse

pue uone|eisu|

i RN
TEFZMER - L Internal gear attachment
Flex gear attachment \ Y ———1 e

ainpaooid

uolie|[eisul JoJop
T AT 5

VA

=l | i 2

i

&

Ble( solsueoeley)

FLEXWAVE WPZ5Y

N
o



21

L

High torque type B2 [z5%282]

B NERSIAIE  Input section structure

ki N BRI

Input section structure

BMNEAADED N+ FBRE (BEpEOMWE) SMME, RBAFLEEFERMAE.

FAERBRINRTES

There are two types of input section structure, oldham type (self-centering feature) and rigid type.

B +FBRE (BshifEoiE) W A B
Oldham type (self-centering) Rigid type

CIN 11— .
N

ORARRYT

Cam hole diameter

ORABERTAEEEAE TRIVELERTUTH, WA+FERE, TR EALE~mALETE, N

ANBEEFTREEUINRT, BEFITEERAE.

The diameter of the cam opening is customizable. Holes smaller than the 'standard hole size' in the table will be built in the
oldham type. Holes equal to or larger than the 'standard hole size' and smaller than the 'maximum hole size' will be built in the

rigid type. Please contact us if you need sizes outside the specification in the table.

O]

¥R~ Cam dimension [mm]
)§T_]’ & 42 50 63 80
ize
REFLEE
standard bore size 6 8 12 14 14
= 42
BAALEV 17 20 23 o8 36
maximum bore size
SN2 H 6 7 8 9 11

minimum thickness




=hERB2

High torque
type B2

SERZEIN Installation and assembly instructions i
5 IR
g Wl
sg #
7] % %
ka1 N/ % H 5 B9 32 #2 (WPC-[J-00-CR) N
Shaft installation instruction = 5
BN/ L HIER A %m{’EﬁH?EEﬁBEﬁ&mﬁﬁ /AR ENENS, (FTEASELH) =
RERERV NI HEAEER T LR, BHITEE, Bk EHMaEa. g
Please design the support structure for input shaft and output shaft so that both radial and axial loads are supported. (Diagram |
below shows an example) =
Inside thrust load has effect on the cam. Secure cam from the possible axial movement. %% an
1% L R
Output shaft B\ B %EE
_ - Input shaft 2C ;; |
’ ¥
=2 =z

==

J
i
: | g,
Simmio —
|

e g 5
Cam 2
&
Ly N &
% 75 3% (WPC-[-[0-CR) S B
2 F
Attachment flange requirement = !

N . “E RN 3
ZERSFEERRERIEZN, AT LSRR, 5 2
RIEFRFIRR H——] 8z % |
For the attachment flange that comes in contact with flex gear, please build the % % =
corner radius according to the table below, in order to prevent damage. o) ! § E

[mm) © E T
’s 35 42 50 63 80 - 1

ltem
D 24.5 29 34 42 55

)
e
N
e
N
e
~
—
(6]
ii
L
]
(
anbio| Bunwsuel|
SH0TH

ainjonis
uonoas nduj
K

ERIE{T

Warm-up run

HETERE, ERINARETITZE, BEEREESIET.

BTG AR KA BIRAL S BRI T E 28, 282 2
I AR EIRS T, BB CEISE, A1 %5 £ F AL 1
(BT R % 1] A
- T T “
- WNFOR M1,000r/min LA EY N IR E 18 12 1R, fEEAE]3,000r/min 25 =
- {784 18] VN =z
- REAE  Rolse % §
After assembly, "Warm-up run” is necessary before run with load / torque. RS

The purpose is that, Flex gear & Internal gear surface to be coated with grease evenly, B

in order to meet the enough performance with load / torque. § E
[Condition example] o
- Load No load z i
- Input rotation speed Start slowly from 1,000r/min or less, then accelerated and reached to 3,000r/min %
- Test time About 1 hour 5
- Output rotation Angle As large as possible o
FLEXWAVE WPF5 22



——

L

High torque type B2 [z5%282]

A, L3 ;55K Motor installation procedure

AN ] BT RRN RSB 5 EEREBIAHRNZE T,
*This model is not directly attached to a motor. Necessary fixtures are to be prepared at the customer side.

BB &2 2 75 3£ (WPU-[-[J-CR)

Motor installation procedure

B a5 Procedure 1
>|2fr;£:‘§"zj\é:z|:: EE;H'U: -Attach the flange on to the motor
4%5@)\ASSY§§§ EE*)_LEEIJ: ‘Attach ;hf input section assembly with elastic bearings to the
s motor shaft
BREHSH T mAH

-Attach the unit

[ T

)

[ [
J

[ .I

i

1 |
Hm

|
M

|

i

[

1

L= 3 &l

—
- -
— ) —J

=

]

gis [ A ASSY \ 2l
= input section assembly — b ﬂ
HETUAM
unit ;f;
flange
. ﬁgiE%Z Procedure 2
J%E@)\ASSYZ%%:%EEMEM: ‘Attach the input section assembly with elastic bearings to the
N > motor shaft
RE=LEEEN L e i
N -Attach the flange on to the motor
RRTAGE T RAN '
-Attach the unit
— ——— &
H flange

5En 1= -+

B
[
1
1
[T]
|

B = T &

- . BBl
- ) | | motor
L] i B\ ASSY
I % input section assembly
HERAN
unit

Z%%T;Ts{’ﬁﬁﬁﬁ’{lii%ﬁ ID":I Caution during installation

- AERBTEAE, AT ERIINE,
A RIMEIREHE NI ASSY,

- Do not use excessive force while mating parts
- Please watch for tilting during input section assembly and motor

23



=hERB2

High torque
type B2

MEVMESNIE  Characteristics Data 22 9
o< KR
7] % %
TR HHEE (Closed type) i
Ratcheting torque [Nm] g _Rj
AL s :
. o
Hatio 35 42 50 63 80 g
50 120 220 340 650 1400 [ [
80 140 250 410 700 1600 5e X2
100 130 210 340 690 1300 i% It
120 i 200 310 680 1200 g ¥
160 - - 300 620 1000 = ?é
z |
Closed type 55 5
JEBRIAZE ( ype) iz
Buckling torque [Nm] g3 g
R~ és =
’%ﬁgb Size j;";
&5 42 50 63 80 5= 15 [
50 ~ 160 260 500 800 1700 3500 =5 A
g5 M
5 B
FRECHIFE (Open type) sy
- A
Ratcheting torque [Nm] N
\ E 3
AL )§£ x
Ratio =
8S) 42 50 63 80 3
50 120 220 340 650 1400 §
80 140 250 410 700 1600 5 L
100 130 210 340 690 1300 gz =
120 - 200 310 680 1200 i
160 - - 300 620 1000 22 E
FERA$AE (Open type) B
Buckling torque [Nm] 2 g
z <
E 7]
RO = <=
Rati 2
o 35 42 50 63 80 g
50 ~ 160 180 350 590 1100 2400 T o3 I *
_ 1IN
BENEHHXR 4B
. Relational diagram of intensity and life N Mj
— 180 A
g \ L E#RHRE  Buckling torque =
i 2 160 — o = — |
= 8 223 &
2 o 14.0 g % % r%‘L
@ g sSs =
M o @ § In
Q g 100 v S HHEFEE Life of elastic bearing =
H_ ag) | BRECHAAE
-/H': o 80 Ratcheting torque T = EE
@ g 0 v BRI 53R Fatigue strength of the bottom of the Flexgear g‘_‘g“‘ %l
NI —
W e 5E 2
= B TESHEAIE F 5
++ 9 mergency maximum torque [~
L'E‘— § 2 T BFRAHAE Allowable maximum torque S li
= e 00 T FHBVFHSE Average of allowable torque oo ﬁ
g 10° 108 107 100 100 101 g-g ﬁ
N0 S (R) s &
Total number of rotations of input shaft [times] g
(1]
7]

* EEISKIRNEHIE A EMEIE. BIFNSEESE,

* The graph is based on actual measurement value. For reference only.

FLEXWRAVE WP%5 24



i

High torque type B2 [z5%282]

REMESRIE  Characteristics Data

AELSRE

Transmission Angular Accuracy

1.0
AEESKEEX
LS & T EANEIERS, Bt bl g2 09 AEAESEE
TR AE S L InH LR AERNEE, o
What is Transmission Angular Accuracy? i S 00
It is the difference between the measured output Eg
rotation angle and the theoretical angle, while input *¥ § -05 A
shaft is rotated with no load. “
10 90 180 270 360
miEERRE (F)
Output shaft rotation angle (deg)
[arc min]
B, );z_ér
Ratio ™ a5 42 50 63 80
50 1.5 1.5 1.0 1.0 1.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
160 - - 1.0 1.0 1.0
MERPBENESEE,
Table values are reference values.
ST RS
Hysteresis Loss
WERKENX e
WANWEE S, B HEmMEwEHMNE07/7%E 1
LT 2 filaiats
What is Hysteresis Loss?
When torque load is applied at the output shaft in
alterngte dilrection repeatedly with input shaft fixed, 7V > HiE
there is residual twisting angle when torque is back Torque
to zero. /
In this context, hysteresis loss is the difference in the
forward and backward twisting angle.
[arc min]
B, );z_ér
Ratio ™ a5 42 50 63 80
50 2.0 2.0 2.0 2.0 2.0
80 1.5 1.0 1.0 1.0 1.0
100 1.5 1.0 1.0 1.0 1.0
120 - 1.0 1.0 1.0 1.0
160 - - 1.0 1.0 1.0
MERABENSEE,

Table values are reference values.

25



=hERB2

High torque
type B2

&3 B
82 & m
g Wl
= oo
= dE w = =
RAER -
Maximum Backlash [arc sec] g _Rj
26 il = . R~ g
BRAH BQ\IEX IREL Size =
~ - N — Ratio =2
HWINEBR A+ B R AL A 4 B B0 5 H M AR Th 35 42 50 63 80
i8] iR 50 35 29 25 20 16 @c = |
(AR S E2BALE PR 0, B LN Y 4B 425 PR A9 30 20 18 16 12 10 23 ﬁ
o 3
0) 100 18 15 13 10 8 g ¥
What is Maximum Backlash? 120 _ 10 10 8 6 =
In this context, maximum backlash is the output g |
. 160 - - 8 6 5 sc %=
backlash for oldham type input shaft. (Backlash “%f 3
is zero for rigid type input, because gear g% ;p_
engagement backlash is zero.) g = B
€5 =
K177 0 ~ T, Bg8sE g |
Spring coefficient at 0 ~ T, torque TE\A—
) K-+ 758 T, ~ T, B34 B2 g W
IX“J ll‘i (%T_I' |7J'—_|§2\ éﬂé?g) Spring cl)efficweznt at T, ~ T, torque ﬁé gEE
- - K3 7738 T, ~ W E E K g B
Stiffness (Closed type’ Umt) Spring cf)efficwentatTgwtorque g };F
- A
1a
=0
I RE X o - = w
o peke 2 e 3 g«
(& 7€ o N\ A, K5 77 %B e N 22 4 L B B o8 25 K, ; 8 flj
1 - Il
S e A o |
; ; i 2 ; 5
What is Stiffness? E & O [-mmmemmemees ! B
In this context, stiffness is the output shaft twisting E g’ K ' . - 1 —
angle and the spring coefficient, while torque load - “g’ ! . é & ﬁ
is applied to the output shaft with input side fixed. = - - g § %
e | R
0 ' ' £
U oamne :
Load torque o [
3 ~I
. o . R = 7
IREE (o= ==Ky} Size S picl
Rati i ; 9
atio item unit 35 49 50 63 80 %
- T, Nm 2 3.9 7 14 29 25 & |
- T, Nm 6.9 12 25 48 108 t%
Ki X 10*Nm/rad 0.41 0.87 1.3 2.5 5.5 - %
e =)
K, X 10‘Nm/rad 057 1.1 18 3.4 7.9 =1
50 Ks X 10‘Nm/rad 0.70 1.4 2.4 45 10 248 =
. $2% =
g, arcmin 1.7 15 1.9 1.9 1.8 3 s I
8, arcmin 4.6 4.1 5.3 5.4 5.3 -
K, X 10'Nm/rad 0.51 0.90 1.3 2.8 5.8 W*
80 K, X 10‘Nm/rad 0.67 13 2.1 45 9.6 2
100 52
Ky X 10*Nm/rad 0.78 15 25 5.2 105 : ®
120 T 7
160 G, arcmin 1.3 15 1.9 1.7 1.7 %
6, arcmin 3.9 3.6 4.8 4.3 4.5 §2 13
m% 4%
X RIRE R THIE, g =
Average value shown in the table z =
=
»

FLEXWRAVE WP%5 26



L

High torque type B2 [z5%282]

REMESRIE  Characteristics Data

=Lk

Starting Torque

BEHEE X 1 RIBEBEHTE, REFEER, MU LRENSE
5 8 L RE R BT, 5 M T 48 HE EE M0 ) B

*1 For reference only. Torque value may vary depending on the
%6, condition.

(T, M FRE 1 25°C)
What is Starting Torque?

Input torque needed for input side to start rotating (no
load, ambient temperature : 25T)

M HFAR, H58 Closed type, Unit
B, BRAEE Open type, Simple unit
%2 BRI N M HE S BRF A SR B9 e F% FE /0 PR SR BV 820,

*2 Charts does not show effects due to rotation resistance of bearings and oil seals on the input side.

[cNm]
35 42 50 B3 80
50 2.1 3.9 7.7 17 22
80 2.0 3.4 6.6 14 21
100 1.9 3.0 6.2 12 20
120 - 27 5.8 11 17
160 - ; 5.3 10 16

W AFmRE, BEE (RE) Open type, Unit (hollow shaft) -
35 42 50 63 80
50 5.6 8.1 10.2 20.1 26.0
80 55 7.6 9.1 17.0 25.0
100 5.4 7.2 8.7 15.2 24.0
120 ; 6.9 83 14.2 21.0
160 - - 7.8 13.2 20.0

W A, AEE BmNE) Open type, Unit (input shaft) o]

it nT

Hato 35 42 50 63 80
50 5.0 7.3 9.2 18.1 23.4
80 5.0 6.8 8.2 15.3 205
100 4.9 6.5 7.8 13.6 21.6
120 ; 6.2 75 12.7 18.9
160 ; ; 7.0 11.8 18.0

27



EBTh H%E

Output Starting Torque

MERBEhFIEE X

FB 4an 0 M50 EL e AR Y, B M FF SR TR ¥2 RY 70
%,

(e, ERE 1 25°C)

What is Output Starting Torque?

Output torque needed for output side to start
rotating (no load, ambient temperature : 25C)

M HFAR, H58 Closed type, Unit
B, BmAE8 Open type, Simple unit
%2 BRI N M HE S BRF A S B e 7% BB /0 PR SR BV 8201,

X RIBEARATR, REFETEER, IULXRFEAEE

BEfER.

*1 For reference only. Torque value may vary depending on the

condition.

*2 Charts does not show effects due to rotation resistance of bearings and oil seals on the input side.

[Nm]
L =T
Hato 35 42 50 63 80
50 15 2.2 3.3 8.4 16
80 1.6 2.7 3.5 10 21
100 1.8 3.2 4.2 12 24
120 - 3.4 5.6 14 o7
160 - - 6.6 20 38
W AFE, HE 8 (FREH) Open type, Unit (hollow shaft) -
AL a
Hato 35 42 50 = 80
50 3.3 4.3 5.8 1.6 18.0
80 3.8 5.6 7.0 16.0 28.9
100 4.6 7.2 9.2 204 40.4
120 ; 8.6 13.3 30.0 53.8
160 - - 19.4 54.4 99.3
WA, AEE (B NH) Open type, Unit (input shaft) -
AL nT
Hato 35 42 50 63 80
50 2.9 3.9 5.2 10.4 16.2
80 3.4 5.0 6.3 14.4 26.0
100 4.2 6.5 8.3 20.1 36.4
120 - 7.8 11.9 27.0 48.5
160 - ] 175 48.9 89.4

FLEXWRAVE WP%5

=hERB2

High torque
type B2

wE

[ JifE SR

suoneoyoads
/ [oPOIA Jeonpay

w0

8|ge] suoisuswig

(Bupesq opse(3)
uolewisa aji
Heeah) Y 2 Sh

BX
i
Pz

>t | ¢

E”j
1t

(Burresq urey)
UOIIBWIISD )17
1) 18

x
L]
N
o

IF

Jeys ndul
18 peo| WNWIXE|N
t

Ik

oy

2 e

Juswaiinbal
aIniX1} JUsWYoeNY | UOBWIOUI JUBDLIgN|

N i

anbio| Bunwsuel|
ST
fm

§§ L)
(DQ I:l\
g fu
3

15
g5 2
o 5 I

8

(o}

o
3z m
€3 =
®y a3t

g =

2 i

/
52 13
g8 %

sansuaoeIRy)
iy




S

High torque type B2 [z5%282]

REMEBRIE  Characteristics Data

J\ ‘-ﬁ i: tfg j] %E [cNm]

(HAE, AEE) At || AR A
(ﬂ:jﬂgg, ﬁ%éﬂé@) Rl speed 35 42 50 63 80
Nébl-loag tRunﬂiBg,tTorque 500r/min 3.8 6.4 10 18 38
Eoé):r? tygg,e'simn5|)e unit) =5 1000r/min 4.9 7.7 12 22 54
2000r/min 5.9 8.2 14 24 57
— = o 3500r/min 6.3 8.7 15 26 63
EaFERTIEENX 500r/min 3.0 5.8 8.4 21 34
EEABFRET, EHIREAMT 1000r/min 3.7 7.4 10 24 41
HEIENIISE, 8 ooooumin | 46 | 80 | 12 25 47
(FME, MR E 1 25°C) 3500r/min | 5.1 8.8 12 26 53
What is No-load Running Torque? 500r/min 2.8 55 7.3 16 35
Input torque needed to keep it 1000r/min 3.6 7.3 9.2 19 44
runnling with no load (av?rage value, 100 2000r/min 43 79 12 20 54

ambient temperature : 25C) -

3500r/min 4.6 8.8 13 23 57
500r/min - 5.0 5.9 14 34
120 1000r/min - 5.7 8.1 18 41
2000r/min - 6.5 9.7 20 43
3500r/min - 7.2 1 21 45
500r/min - - 7.2 15 25
160 1000r/min - - 8.9 19 30
2000r/min - - 11 22 37
3500r/min - - 11 22 40

X1 RIBERFMTR, MEFEER, FULRFEASZERER.
X2 T EFERMAMG E%}‘&Hﬁ/ﬁm%%E’Jﬁiﬂ%fﬁﬁﬁﬁﬁm%ﬁﬁE’U[‘]o

*1 For reference only. Torque value may vary depending on the condition.
*2 Charts does not show effects due to rotation resistance of bearings and oil
seals on the input side.

29



=hERB2

High torque
type B2

&3 B
82 18
g — g =
T 1%E : [cNm] al
(FFRRE, A AR (FRi)) Aty | AR A : R
No-load Running Torque Rl speed 35 42 50 63 80 g %%
(Open type, Unit (hollow shatt)) 500r/min | 11.0 | 16.5 | 224 | 341 | 405 :
1000r/min | 11.9 | 19.2 | 26.1 39.5 | 45.0 ®
EHEIEZENEENX %% 2000ymin | 13.0 | 217 | 289 | 444 | 49.7 =t = |
ELEAEEHT, EEEEFFE 3500r/min | 15.0 | 21.7 | 33.0 | 515 | 588 %% ﬁ
AT A 5B, 500r/min 10.3 13.5 22.9 34.7 51.5 §§ %
(3918, BB E25°C) 80 1000r/min | 11.7 | 149 | 234 | 382 | 60.0 7 &
What is No-load Running Torque? 2000r/min | 124 | 17.0 | 256 | 41.7 | 63.0 . & |
Input torque needed to keep it 3500r/min 12.7 19.3 29.6 44.4 67.5 §§ ?ﬁ
running with no load (average value, 500r/min 10.3 15.8 20.9 37.3 535 g5 of
ambient temperature : 25C) 100 1000r/min 11.6 17.3 24.2 41.5 55.0 §§ %
2000r/min | 13.1 20.2 | 25.8 | 49.4 | 60.0 4
3500r/min | 13.7 | 21.0 | 275 | 548 | 685 ﬂ*
500r/min - 12.8 23.5 34.6 38.0 ;; A
190 1000r/min - 133 | 263 | 39.0 | 423 %g %
2000r/min - 152 | 30.4 | 475 | 46.7 s i
3500r/min - 18.7 | 347 | 517 | 51.9 /o
500r/min - - 215 | 285 | 475 % g
160 1000r/min - - 23.3 30.0 53.5 % |
2000r/min - - 27.0 | 326 | 56.4 g
3500r/min - - 29.1 35.4 | 63.7 5
X1 IRBEAAHRE, MEFEER, FULRIENSEEER. i =
*1 For reference only. Torque value may vary depending on the condition. % C% ?%
22 B

anbio| Bunwsuel|
ST
fm

§§ L)
(DQ I:l\
g fiI
3
®
g5 2
o 5 I
>

(o}

o
3z T&
€3 =
®y a3t

g =

/
22 4
g8 %

sansuaoeIRy)
iy

FLEXWAVE WPZ35 30



31

High torque type B2 [z5%282]

REMEBRIE  Characteristics Data

T 1%E
(FFHgBY, LA &8 (B NEH))

No-load Running Torque
(Open type, Unit (input shaft))

EHFEENEEX
TELEAEEFNT, EHIERPIFE
2% 3L PN PAB =
(FME, FIERE:25°C)
What is No-load Running Torque?

Input torque needed to keep it
running with no load (average value,
ambient temperature : 25TC)

[cNm]
ﬁfg%gb Ingguu{\rfz%n §Zje—

speed 85 42 50 63 80

500r/min 4.4 8.1 12.2 17.7 26.3

50 1000r/min 5.3 8.8 13.8 19.4 28.0
2000r/min 6.2 9.2 15.2 23.8 30.0
3500r/min 6.5 9.8 17.0 25.8 30.5
500r/min 4.8 7.6 13.6 23.1 30.4

30 1000r/min 5.6 8.3 151 23.1 32.0
2000r/min 6.0 9.2 16.2 25.4 36.0
3500r/min 5.7 9.6 171 25.7 39.0
500r/min 5.1 8.8 13.4 22.2 30.0

100 1000r/min 5.7 9.8 14.3 23.1 31.7
2000r/min 5.6 10.5 16.3 24.7 36.5
3500r/min 5.7 11.2 16.4 29.6 38.0
500r/min - 7.4 11.7 15.7 31.7

120 1000r/min - 8.6 13.9 16.7 35.0
2000r/min - 10.5 15.9 17.6 38.5
3500r/min - 11.0 18.1 19.3 40.0
500r/min - - 9.8 141 20.0

180 1000r/min - - 11.9 15.8 22.7
2000r/min - - 13.4 16.9 26.0
3500r/min - - 15.1 18.6 27.5

X REGERFMTR, HERFTES, MULRIEANSEERER.

*1 For reference only. Torque value may vary depending on the condition.



=hERB2

High torque
type B2
28 H B
82 & m
g Wl
sg #
7] % %
== N&ys ~ A - —
R (HAR, AEE) (FRE, 9R441)
Efficiency (Closed type, Unit) (Open type, Simple unit) 5 5
[©] N
ﬁﬁ[%] T /BTy % ‘Percentile Load (%) is equal to load torque divided by g
allowable average torque. @
N =] . o B
IR RE 25°C -Ambient temperature : 25T —=1
. . 5 *1 These diagrams represent the average value of the ps A
1 ERNIVEIEIF I E actual megsuremer?t ’ ?’C‘fi ‘Tﬁ
NN o N 7 Shid ' ) ) 33
X2 A BN MR K IR 4 A S BY he ¥ 18 *2 Charts does not show effects due to rotation resistance of %% %
DI REIF Mo bearings and oil seals on the input side. = %
=
g5 of
g5 %
= ES
]
x
o 3
55 A
s ="
s
o
WPU-35-50 WPU-35-80 = a
100 100 &
e 500 r/min e 500 r/min 5 j;ﬁ
90 | === 1000 r/min 90 [ === 1000 r/min e
@ 2000 r/min e 2000 r/min B
> 80 | e 3500 r/min > 80 [ e 3500 r/min §
» /—-' =]
5 70 — E 70 ——1—
2 //-—": o 8z =
T 60 —— T 60 S8 =
. s . 18-
£ 50 £ 50 =2 E
# 40 7z # 40 /7
& = |
30 30 5 f&
g 5
20 20 g 7
° picl
10 10 S
0 20 40 60 80 100 0 20 40 60 80 100 g
% [%] Percentile Load tafer (%] Percentile Load ez @ |
§§ il
§ fu
7
WPU-35-100 i5
100 53 = |
500 t/min sSE E
90 || == 1000 r/min 25 =
e 2000 r/min e oz M
_ 80 [ e 3500 r/min -
Q
5 70 — L
2 = 2% =
= S g
i 60 32 ijft
=X 50 m% %
N o
# 40 2 3
30 g2 E
52
20 8
10 : B
0 20 40 60 80 100 )

fafT [%] Percentile Load

FLEXWAVE WPZE5 32



33

High torque type B2 [z5%282]

REMEBRIE  Characteristics Data

R (HAR, AEE) (FRE, 9R441)
Efficiency (Closed type, Unit) (Open type, Simple unit)

I %] AT IR/ B 05
IR RE 25°C
%1 B A NEERNTIE,

X2 AN BLIE R N O Y K DR B 7% S5 BY e 4% B

-Percentile Load (%) is equal to load torque divided by

allowable average torque.
‘Ambient temperature : 25T

*1 These diagrams represent the average value of the

actual measurement.

*2 Charts does not show effects due to rotation resistance of

IR RV, bearings and oil seals on the input side.
WPU-42-50 WPU-42-80
100 100
@ 500 r/min @ 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
s 2000 r/min s 2000 r/min
. 80 [ e 3500 r/min - 80 [ === 3500 r/min
2 2
o 70 % 3 70
2 o
= 50 = 50
8 40 /// B 40 ///
30 4 30 ' 4
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
faf [%] Percentile Load e [%] Percentile Load
WPU-42-100 WPU-42-120
100 100
@ 500 r/min @ 500 r/min
90 | e 1000 r/min 90 || e 1000 r/min
e 2000 r/min @ 2000 r/min
. 80 [ === 3500 r/min - 80 [ === 3500 r/min
2 2
o 70 o 70
ko) L2
1 60 L 60
X 50 = 50
- /// Moy
=7 LI/
30 (4 30 [ 4
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100

fafT [%] Percentile Load

fafF [%] Percentile Load



=hERB2

High torque
type B2

&3 B
g2 1w
g2
s
7] % %
b 327 S 4 - —
R (HAR, AEE) (FRE, 9R441)
Efficiency (Closed type, Unit) (Open type, Simple unit) g 5
[} N
ﬁﬁ[%] T /BTy % ‘Percentile Load (%) is equal to load torque divided by g
allowable average torque. @
it:E = - o o,
IMFRE 1 25°C -Ambient temperature : 25C S = |
. . s *1 These diagrams represent the average value of the 53 =
%1 BIRNSDNEHRN FIIE, YR ¢ ig ™
= S R BR R )i ' , , g3
M2 A BN K M A S RV Be R R *2 Charts does not show effects due to rotation resistance of §% %
- 1ty 7, . . . . >3 7
TP REI R0 bearings and oil seals on the input side. = =
=
WPU-50-50 WPU-50-80 2t = |
Do X
> g
100 100 g5 1
e 500 r/min 500 r/min % % %:
90 | o 1000 r/min 90 | e 1000 r/min s z
2000 r/min s 2000 r/min i
> 80 [ e 3500 r/min > 80 [ e 3500 r/min 7— |
& 70 = 5 70 — 5= o8y |
© © 35 1
= 50 7 T 5 /4 25 &
) ) Q N
i / ) / g8
§ 40 ,/ @ 40 ,/ 2
80— 30— - I
c :‘E
20 20 S :g
o
10 10 i
0 20 40 60 80 100 0 20 40 60 80 100 S
f1f§ [%] Percentile Load 5 [%] Percentile Load ]
g
WPU-50-100 WPU-50-120 3z = |
g 2
100 100 23 &=
o0 H = o, S e R
80 — 2000 r/min 80 U — 2000 r/min %D
§ s 3500 r/min § s 3500 r/min B
_§ 70 § 70 = (&
D 60 D 60 : 5
S 50 £ 50 E ;%
# 40 / # 40 g
& Yy & /4 .
30 v 30 / |
20 20 53 W
§$ 3
0, 20 40 60 80 100 05 20 40 60 80 100 = ?ﬁ
A% [%] Percentile Load 7% [%] Percentile Load |
&
WPU-50-160 i%z F |
= % g‘ =z
c 3= =
o 500 r/mi %g % %
— r/min » -
90 || e 1000 r/min 3 In
0 U s 2000 r/min o
3 s 3500 r/min
3 70 = L
£ 35 B
I 60 22 #
= g7 %
= 50 s g e
o
E: S :f
w Y :
20 2
55 4%
10 g =
0 20 40 60 80 100 e iz
3
&

ffd [%] Percentile Load

FLEXWRAVE WP%5




L

High torque type B2 [z5%282]

REMEBRIE  Characteristics Data

R (HAR, AEE) (FRE, 9R441)

Efficiency (Closed type, Unit) (Open type, Simple unit)

1 [%] At /BT F %k
IR RE 25°C

%1 BFR A TNEEER T HE.,

X2 R HE 5 NN SH 5T R BR A B R S 0 bR B BE

TR RAVR I,
WPU-63-50
100
@ 500 r/min
90 | o 1000 r/min
s 2000 r/min
_ 80 [ === 3500 r/min
2
s 70 %
Q
el
X 50
B
= 40
30
20
10
0 20 40 60 80 100
i [%] Percentile Load
WPU-63-100
100
@ 500 r/min
90 | e 1000 /min
s 2000 r/min
. 80 [ e 3500 r/min
2
3 70 %
o
ol 7
X 50
Bt
= 40
30
20
10
0 20 40 60 80 100
il [%] Percentile Load
WPU-63-160
100
@ 500 r/min
90 || e 1000 rfmin
s 2000 r/min
_. 80 [ == 3500 r/min
2
o 70
Q
o 60
= 50
B
® 40
30
20
10
0 20 40 60 80 100

fafi [%] Percentile Load

35

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25T
*1 These diagrams represent the average value of the

actual measurement.

*2 Charts does not show effects due to rotation resistance of

bearings and oil seals on the input side.

WPU-63-80
100
e 500 r/min
90 | e 1000 r/min
s 2000 r/min
. 80 [ === 3500 r/min
2
3 70 %
Qo
= 50
# 40
=
30
20
10
0 20 40 60 80 100
fufi [%] Percentile Load
WPU-63-120
100
e 500 r/min
90 H s 1000 r/min
s 2000 r/min
- 80 [ e 3500 /min
2
@ 70
Qo
=X 50
#
= 40
30
20
10
0 20 40 60 80 100

1% [%] Percentile Load



R (HAR, AEE) (FRE, 9R441)

Efficiency (Closed type, Unit) (Open type, Simple unit)

1 [%] At /BT F %k

IR RE 25°C

%1 BFR A TNEEER T HE.,

X2 6 HE 5 N SH 5T 2 B B R S5 09 bR B PR
FIFfs SRBI R,

WPU-80-50
100
@ 500 r/min
90 | e 1000 r/min
s 2000 r/min
. 80 [ = 3500 r/min
2
o 70
Q
o 60
& 50
Ht
= 40
30
20
10
0 20 40 60 80 100
i [%] Percentile Load
WPU-80-100
100
@ 500 r/min
90 | == 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
2
]
o 60
= 50
Bt
= 40
30
20
10
20 40 60 80 100
i [%] Percentile Load
WPU-80-160
100
@ 500 r/min
90 | e 1000 min
s 2000 r/min
_. 80 [ e 3500 r/min
2
@ 70
o
o 60
= 50
Bt
= 40
30
20
10
0 20 40 60 80 100

i [%] Percentile Load

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25T
*1 These diagrams represent the average value of the

actual measurement.
*2 Charts does not show effects due to rotation resistance of
bearings and oil seals on the input side.

s 3500 r/min Z?

40 60 80 100

fafd [%] Percentile Load

WPU-80-80
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
5 80
3 70
Qo
o 60
S
s
= 40
30
20
10 0 20
WPU-80-120
100
e 500 r/mil
90 H —1001;:;‘rl:in
e 2000 r/min
5 80 [ e 3500 /min
3 70
Q
o 60
£ 50
B
= 40
30
20
10

20

40 60 80 100

1t [%] Percentile Load

FLEXWRAVE WP%5

=hERB2

High torque
type B2
22 M
25 7%%
o
9 e
sg #
w% %
- ~
o R |
g
e =
=)
(%)
o
o
(o}
,\,_— [
=9 E’E
o Z I
8 =
T ow
P
s
55 73
38 E’j
O = N
83 )
is ®
= x
i
P
o 32 i
£3 %
: 2
aQ 'L)‘F
&
B
S A
o
2
3
g
3
=
=
=)
o xE 2
£ £
=9 =
g3 =
gcb *ﬁ
22 =
z
C
5

suolnonJsul

ainjonis

Alquiesse

ainpaooid

eleq

anbio| Bunwsuel|
ST
fm

Bl

z A

(0] phvd

g o

g fi
i
&

= o |

g &

)

= =

jV)

s Z

>

>

[oN

: |

o

g

g

2]

&

5

5

=)

(¢}

=2

QD

o

o

[}

g

2

z

7]

36



High torque type B2 [z5%282]

REMEBRIE  Characteristics Data

R (Frins, AR (P =)
Efficiency (Open type, Unit (hollow shaft))

ﬁﬁ[%] ﬁﬁjj}ﬁ/gltFEFi’gjj%E ‘Percentile Load (%) is equal to load torque divided by
p——— o allowable average torque.
R E 1 25°C ‘Ambient temperature : 25T

*1 These diagrams represent the average value of the
actual measurement.

X1 BIRAKNEIER FI(E.

WPU-35-50 WPU-35-80
100 100
@ 500 r/min @ 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
s 2000 r/min s 2000 r/min
. 80 [ === 3500 r/min - 80 [ === 3500 r/min
2 2
o 70 o 70
O <]
o 60 b 60
T 5 __— T 5 _—
¥ 40 ¥ 40 /
& &
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
faf [%] Percentile Load e [%] Percentile Load
WPU-35-100
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 [ s 3500 r/min
2
o 70
kS
1 60
X 50
M4
= 0
30
20
10
0 20 40 60 80 100

fafT [%] Percentile Load

37



R (Frins, AR (P =)
Efficiency (Open type, Unit (hollow shaft))

I %] AT IR/ B 05
IR RE 25°C
%1 B2 A NEEENTIE,

WPU-42-50
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 [ === 3500 r/min
2
o 70
0 60 /
= 50
LT
&
30
20
10
0 20 40 60 80 100
fafa [%] Percentile Load
WPU-42-100
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
_ 80 [ e 3500 r/min
2
o 70
kS
1 60
= 50
M4
= 0
30
20
10
0 20 40 60 80 100

fafT [%] Percentile Load

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25T
*1 These diagrams represent the average value of the

actual measurement.

60

80 100

ffa [%] Percentile Load

—

——

/

WPU-42-80
100
@ 500 r/min
90 | e 1000 r/min
s 2000 r/min
. 80 [ === 3500 r/min
2
o 70
O
L 60
= 50
¥ 40
=
30
20
10
0 20 40
WPU-42-120
100
e 500 r/min
90 | e 1000 r/min
@ 2000 r/min
- 80 [ === 3500 r/min
2
@ 70
O
L 60
= 50
# 40
=
30
20
10
0 20 40

60

80 100

fafF [%] Percentile Load

FLEXWRAVE WP%5

=hERB2

High torque
type B2

28 HH
T @ /B
o Q ~
gé%‘%
o
g2
sg #
w% %
- ~
g R
g f
(2]
5
o
(o}

=
m = S
oy &
2o @D
23
o3 1+
gs H
S &
e’ &
)
=
=T
55 &
5o T
oa fP
5 1
it %
g =
= x
i
x
3E W
23 A
855 M
=4 N
: 9
aQ 'L)‘F
2
a7
S A
2
s
B)
3
5
2
=)
.
2=z =
3 i
3=z =
33 1
N
oS
g
3

anbio| Bunwsuel|
ST
fm

w = e
gé LT
g o 4
8 3
g fu
14

&

x

suoponsul
Alquiesse

)
3

pue uole|eisu|
demt

ainpaooid

uone|eIsul JOloN
B 2

eleq

sansuaoeIRy)
iy

FEdR




39

L

High torque type B2 [z5%282]

REMEBRIE  Characteristics Data

R (Frins, AR (P =)
Efficiency (Open type, Unit (hollow shaft))

I %] AT IR/ B 05
IR RE 25°C
%1 B A NEERNTIE,

WPU-50-50
100
@ 500 r/min
90 | e 1000 r/min
s 2000 r/min
. 80 [ = 3500 r/min
2
o 70
Q
0 60 /
& 50
= 40
30
20
10
0 20 40 60 80 100
i [%] Percentile Load
WPU-50-100
100
e 500 r/min
90 | == 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
2
@ 70
g /
o 60 / A
= 50
Bt
= 40
30
20
10
0 20 40 60 80 100
i [%] Percentile Load
WPU-50-160
100
e 500 r/min
90 | == 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
2
@ 70
Q
0 60 /
§ 50 A
Bt
= 40
30
20
10
0 20 40 60 80 100

ffd [%] Percentile Load

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25T
*1 These diagrams represent the average value of the
actual measurement.

WPU-50-80
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
> 80 A e 3500 r/min
3 70 —
5 _——
4= /
w 60 /
= 50
W 40
=
30
20 s
10
0 20 40 60 80 100
it [%] Percentile Load
WPU-50-120
100
e 500 r/min
90 1 = 1000 rimin
s 2000 r/min
- 80 [ e 3500 /min
2
@ 70
©Q
o 60
X 50
#
= 40
30
20
10
0 20 40 60 80 100

fafd [%] Percentile Load



R (Frins, AR (P =)
Efficiency (Open type, Unit (hollow shaft))

I %] AT IR/ B 05
IR RE 25°C
%1 B2 A NEEENTIE,

WPU-63-50
100
e 500 r/min
90 [ e 1000 r/min
2000 r/min
. 80 [ === 3500 r/min
2
o 70
Q
o 60
X 50
# 40 /
30
20 J
10
0 20 40 60 80 100
ffd (%] Percentile Load
WPU-63-100
100
e 500 r/min
90 | e 1000 /min
2000 r/min
. 80 [ e 3500 r/min
2
@ 70
o
o 60
= 50
Bt
= 40 /
30
20
10
0 20 40 60 80 100
fifi [%] Percentile Load
WPU-63-160
100
e 500 r/min
90 || e 1000 rfmin
s 2000 r/min
_ 80 [ e 3500 r/min
2
o 70
Q
L 60 —
= 50 /A
B
= 40
30 /
20 /
10

0 20 40 60 80 100

fafi [%] Percentile Load

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25T
*1 These diagrams represent the average value of the
actual measurement.

WPU-63-80
100
e 500 r/min
90 | e 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
o
5 70 //
Qo
60 /
= 50
# 40 /
=
30
20
10
0 20 40 60 80 100
it [%] Percentile Load
WPU-63-120
100
e 500 r/min
90 H s 1000 r/min
e 2000 r/min
- 80 [ e 3500 /min
2
.g 70
i 60 /A
X 50
= 40 /
30 /
20 /
10
0 20 40 60 80 100

1% [%] Percentile Load

FLEXWRAVE WP%5

=hERB2

High torque
type B2
22 M
o5 MR
g2
gz #
w% %
- ~
5 |
5 R
g f
& &
=)
(%)
o
=5
(o}
/\,_— [
o5 F
Z 92 ‘?ﬁ
SI= I
E
58 =
& &
)
x
=T
55 73
38 E’j
O = >
£3 L
it =
g =
= x
i
*
i
23
£3 %
: 2
aQ 'L)‘F
&
B
S A
o
2
3
g
3
=
=
=)
o xE 2
£ £
=9 =
el V=
R
22 =
z
C
5

anbio| Bunwsuel|
ST
fm

0w = A
£3 W
o =
fDQ [=]
g fiI
#
=
e o
223 7
ces =
an TSN
S<g¢g =
o 5 W
=)
(o}
° <
g9
89
€3
° 5
B
2
=)
o0
23’
8
Q
Q
9
o
=
[
=
(7]
»



L

High torque type B2 [z5%282]

REMEBRIE  Characteristics Data

R (Frins, AR (P =)
Efficiency (Open type, Unit (hollow shaft))

ﬁﬁ[%] ﬁﬁjj}ﬁ/gltFXFi’gjj}E ‘Percentile Load (%) is equal to load torque divided by
p——— o allowable average torque.
R E 1 25°C ‘Ambient temperature : 25T

*1 These diagrams represent the average value of the
actual measurement.

X1 BIRAKNEIER FI(E.

WPU-80-50 WPU-80-80
100 100
@ 500 r/min 500 r/min
90 [ o 1000 r/min 90 [ e 1000 r/min
s 2000 r/min s 2000 r/min
> 80 [ = 3500 r/min /___ > 80 A e 3500 r/min
& 70 — 5 70
g = 2
60 // b 60 /
= 50 £ 50
W 40 / # 40 /
& &
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
tafi [%] Percentile Load fifi [%] Percentile Load
WPU-80-100 WPU-80-120
100 100
@ 500 r/min @ 500 r/min
90 || e 1000 r/min 90 [ e 1000 r/min
s 2000 r/min s 2000 r/min
. 80 [ e 3500 r/min . 80 [ === 3500 r/min
2 2
@ 70 @ 70 7
60 L 60 /////
S 50 £ 50
= 40 = 40 /
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
i [%] Percentile Load fafid [%] Percentile Load
WPU-80-160
100

e 500 r/min

90 | e 1000 /min
2000 r/min
80 [ e 3500 r/min

70

60
50

40 /
Ny -

20

ME (%] Efficiency

10 0 20 40 60 80 100

i [%] Percentile Load

41



RUER (FFiEY, AAE (NG))
Efficiency (Open type, Unit (input shaft))

I %] AT IR/ B 05
IR RE 25°C
%1 B2 A NEEENTIE,

WPU-35-50
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 [ === 3500 r/min
o
O
L 60
= 50
LT
&
30
20
10
0 20 40 60 80 100
fafa [%] Percentile Load
WPU-35-100
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
_ 80 [ e 3500 r/min
2
.g 70
= 50
M4
= 0
30
20
10
0 20 40 60 80 100

fafT [%] Percentile Load

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25T
*1 These diagrams represent the average value of the

actual measurement.

WPU-35-80
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
- 80 [ === 3500 r/min
2
o© 70
O
L 60
= 50
¥ 40
&
30 /
20 r 4
10

20

40

60 80 100

ffa [%] Percentile Load

FLEXWRAVE WP%5

=hERB2

High torque
type B2
w3 m \=h
ER e
25 1R
R
55 o
w% %
- ~—
o]

5 R
g
(%)

o

o

(o}

(Bupesq opse(3)
uonewiss ajif
R S S

(Buleaq urely)
UOIIBWIISD )17
Hi) 33 = Sh ot

i
S
35 ¥
23 A
> c Eﬁ
£3 %
: @
aQ 'L)‘F
2
a7
5
= N
Q /A
o
2
=)
g
3
o
=
=)
.
3z X
c 8 it
3=z =
33 1
N
=
z
5

anbio| Bunwsuel|
ST
fm

0w = A
23 W

g s
ce %
CDQ [=]
g fiI
14
15
55 2
223 &
ceo8 X
an TSN
§<2o =
@» - T
o A

=)

(o}

ainpaooid

uone|eIsul JOloN
B 2

59 %
52
o
z B
5‘.
42



High torque type B2 [z5%282]

REMEBRIE  Characteristics Data

RER (R, BEE (EAM))
Efficiency (Open type, Unit (input shaft))

ﬁﬁ[%] ﬁﬁjj}ﬁ/gltFXFigjj}E ‘Percentile Load (%) is equal to load torque divided by
p——— o allowable average torque.
R E 1 25°C ‘Ambient temperature : 25T

*1 These diagrams represent the average value of the
actual measurement.

X1 BIRAKNEIER FI(E.

WPU-42-50 WPU-42-80
100 100
@ 500 r/min @ 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
s 2000 r/min s 2000 r/min
. 80 [ === 3500 r/min - 80 s 3500 r/min
2 2
< 70 o 70
O O
o 60 b 60
= 50 = 50
B 40 B a0
& 2
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
faf [%] Percentile Load e [%] Percentile Load
WPU-42-100 WPU-42-120
100 100
@ 500 r/min @ 500 r/min
90 ] 1000 r/min 90 [ 1000 r/min
e 2000 r/min @ 2000 r/min
> 80 [ e 3500 r/min > 80 [ e 3500 r/min
5 70 & 70 é
£ £ _——
7 y 7 =
X 50 = 50
o4 / M4
& 40 & 10
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
faf [%] Percentile Load fafs [%] Percentile Load

43



RER (R, BEE (EAM))
Efficiency (Open type, Unit (input shaft))

I %] AT IR/ B 05
IR RE 25°C
%1 B2 A NEEENTIE,

WPU-50-50
100
@ 500 r/min
90 | e 1000 r/min
s 2000 r/min
. 80 s 3500 r/min
2
o 70
Q
o 60
& 50
B
%40 /
30
20
10
0 20 40 60 80 100
i [%] Percentile Load
WPU-50-100
100
e 500 r/min
90 | == 1000 r/min
s 2000 r/min
> 80 [ e 3500 r/min /
5 70 —
o
G 60
= 50
Bt
= 40
30
20
10
0 20 40 60 80 100
i [%] Percentile Load
WPU-50-160
100
e 500 r/min
90 | == 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
o
é i //
E 60 A
= 50
Bt
= 40 /
30
20
10
0 20 40 60 80 100

ffd [%] Percentile Load

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25T
*1 These diagrams represent the average value of the
actual measurement.

WPU-50-80
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
2
@ 70
©
o 60
= 50
# 40
=
30
20
10
0 20 40 60 80 100
it [%] Percentile Load
WPU-50-120
100
e 500 r/min
90 H s 1000 r/min
s 2000 r/min
5 80 [ e 3500 /min
é " /_-
7 ////"/,
X 50
M Y 7z
= 40 /
30 /
20 V4
10

0 20 40 60 80 100
fafd [%] Percentile Load

FLEXWRAVE WP%5

=hERB2

High torque
type B2

suolnonJsul

suoneoyoads

(Buleaq urely) (Buleaq onse|3)

Jeys ndul

Juswaiinbal

ainjonis

Alquiesse

ainpaooid

eleq

2 1A
§$§%
z #®
Q0
e =
\\
o R |
3
g
g K
(2]
&
o
(0]
- |
5 T
g %
§1
r B
i
&
S &
.
2'%
s 3
h
x
S 4
3'7‘?
: B
Q-L)‘F
2
&
=)
5 7
-
g
3
=
-
)>r—‘—|7
z %
o
.
3
= E
£y
c
@

anbio| Bunwsuel|
ST
fm

Bl

z A

(0] phvd

g o

g fi
i
&

= o |

g &

)

= =

jV)

s Z

>

>

[oN

: |

o

g

g

2]

&

5

5

=)

(¢}

=2

QD

o

o

[}

g

2

z

7]

44



L

High torque type B2 [z5%282]

REMEBRIE  Characteristics Data

RUER (FFiEY, AAE (NG))
Efficiency (Open type, Unit (input shaft))

ﬁﬁ[%] ﬁﬁjj}ﬁ/gltFXFi’gjj}E ‘Percentile Load (%) is equal to load torque divided by
p——— o allowable average torque.
R E 1 25°C ‘Ambient temperature : 25T

*1 These diagrams represent the average value of the
actual measurement.

X1 BIRAKNEIER FI(E.

WPU-63-50 WPU-63-80
100 100
@ 500 r/min @ 500 r/min
90 | o 1000 r/min 90 | cmmm 1000 r/min
s 2000 r/min s 2000 r/min
_. 80 s 3500 r/min .. 80 s 3500 r/min
o &)
& 70 g 70
Q ks
o 60 60
= 50 = 50
= 40 ) 40
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
tafe [%] Percentile Load fifi [%]  Percentile Load
WPU-63-100 WPU-63-120
100 100
— 500 r/mi a— 500 r/mi
90 - Z 000 vmin 90 H 7000 vmin

s 2000 r/min

e 2000 r/min

- 80 [ e 3500 r/min - 80 s 3500 r/min
2 2
@ 70 o 70
o k3]
o 60 o 60
= 50 % = 50
B 40 # 40
& // b
30 —7 30 —*
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
il [%] Percentile Load i [%] Percentile Load
WPU-63-160
100
e 500 r/min
90 || e 1000 rfmin
s 2000 r/min
. 80 [ s 3500 r/min
2
o 70
k3]
o 60
= 50
W 40
&
30
20
10
0 20 40 60 80 100

fafi [%] Percentile Load

45



R (FFiks, AR (NH))

Efficienc

y (Open type, Unit (input shaft))

I %] AT IR/ B 05
IR RE 25°C
%1 B2 A NEEENTIE,

WPU-80-50
100
@ 500 r/min
90 | e 1000 r/min
s 2000 r/min
. 80 e 3500 r/min
2
o 70
Q
o 60
& 50
o 1
= 40
30
20
10
0 20 40 60 80 100
i [%] Percentile Load
WPU-80-100
100
@ 500 r/min
90 | == 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
2
@ 70
: y
o 60
= 50
Bt
= 40 7
30
20
10
0 20 40 60 80 100
i [%] Percentile Load
WPU-80-160
100
@ 500 r/min
90 | e 1000 /min
s 2000 r/min
. 80 [ e 3500 r/min
2
@ 70
o
o 60
= 50
Bt
= 40
30 ,
20
10
0 20 40 60 80 100

i [%] Percentile Load

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25T
*1 These diagrams represent the average value of the

actual measurement.

60 80 100

fafd [%] Percentile Load

WPU-80-80
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
> 80 o e 3500 r/min
3 70
9o
o 60
S
s
= 40
30
20
10 0 20 40
WPU-80-120
100
e 500 r/mil
90 H —1001;:;‘rl:in
e 2000 r/min
5 80 [ e 3500 /min
3 70
Q
o 60
£ 50
B
= 40
30
20
10 0 20 40

60 80 100

1t [%] Percentile Load

FLEXWRAVE WP%5

=hERB2

High torque
type B2
22 M
25 7%%
o
9 e
gz #
w% %
- ~
o R |
g
& &
=)
(%)
o
o
(o}
,\,_— [
=9 E’E
SI= I
8 =
T ow
P
s
55 73
38 E’j
O = N
83 )
gs 7
= x
i
P
o 32 i
£3 %
: 2
aQ 'L)‘F
&
B
S A
o
2
3
g
3
=
=
=)
o xE 2
£ £
=9 =
g3 =
gcb *ﬁ
22 =
z
C
5

suolnonJsul

ainjonis

Alquiesse

ainpaooid

eleq

anbio| Bunwsuel|
ST
fm

Bl

z A

(0] phvd

g o

g fi
i
&

= o |

g &

)

= =

jV)

s Z

>

>

[oN

: |

o

g

g

2]

&

5

5

=)

(¢}

=2

QD

o

o

[}

g

2

z

7]

46



47

Flat type D

YR A BY = Reducer Model Nomenclature

WP

35

50

CD

= 1 Ay D3
RIIBHR -3 R~ RIEEL 55
Series name type Size Ratio Code
WPZ7! C -EptFE 35 50 CD
Component type
e 42
WP Series S [EZASE 80 CDH
Simple unit type 50
U:4a&8 100 SD
BEE (L) 63
Unit type
Hollow unit 80 120 SDH
XAEBEBESBR TR,
.Eﬁfﬁ% Availability For the code details, please check the
. Dimensions Table
Ratio matrix
9 lpg 22 50 | 80 | 100 | 120
g 35
IS
o 42
[V
50
63
80
=N o .
SR AL ERAE Reducer Specifications
%2 %3 %4 %5 %6 %7
\ BT BUBA BaBA BUFY YRS S
TR EL Ay 7156 T HBNIR BANFR
RT"— Ratio Nominal output Maximum output | Emergency stop Nominal Maximum input .
Size ; 3 Life
R* torque torque torque input speed speed
[Nm] [Nm] [Nm] [r/min] [r/min] [hours]
50 3.7 12 24
85 80 5.4 16 29 3000 8500
100 5.4 19 31
50 11 23 48
80 15 29 52
42 3000 7300
100 16 37 55
120 16 37 55
50 17 39 69
80 24 51 75
50 3000 6500
100 28 57 76 7000
120 28 57 76
50 27 69 127
80 44 96 147
63 3000 5600
100 47 110 152
120 47 110 152
50 53 151 268
80 82 212 334
80 3000 4800
100 96 233 359
120 96 233 359

1 IEBRERNPAFIARRNA, RIS EEL
2 B NFEE 20001/ min IR B IFRAE
%3 BEh. ELERNBFRAE

¥4 REBTRNETFRAME

%5 TEEER, FIMANERNBFRAE
X6 BERUEFR, IARRNBFRAE

7 BINFEIR2000r/min, BYFEUE /5 1 8T B9 & B8]

*1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table
*2 The maximum allowable value at the input rotation speed of 2000r/min

*3 The maximum torque when starting and stopping.

*4 The maximum torque when it receives shock.

*5 The maximum average input speed.

*6 The maximum input speed.

*7 The life time at the input rotation speed of 2000 r/min and nominal output torque



#¥2D

Flat type D

R~ 3% Dimensions Table

b
/ JHESHET

suoneosyoads
/ 1I9pOJ\ 12anpay

B AR BRHE T s
RT—'— Weight Moment of inertia
Closed Type, Component Size Ko X10°kg?

35 0.062 0.0226
WPC' D = |:| 'CD 42 0.10 0.0565
50 0.16 0.113
63 0.26 0.342
80 0.57 1.18

P

a|qeL suoisuawig

LE
LF LG
LH

LJ

(Buleaq onse|3)
uonewnss a4
(i) Y3 5 Shatt

PLW

€05

SF

(Bulreaq urey)
uolewse oy
s#14) Y- S

1
I

-

€03

?(Z
?SC
#SB (H6)
?(Z
#LB (hé)

€05

#SD (H7)

TIIT

[

LK

Jeys ndul

18 PBO| WNWIXBIA|
ARt
H

8% G
X I

uolewIojUl JUBDLIN|

[mm]

uswalinbal
2INIX1) JUsWYoBNY
Kl i i

R~

Size LA LB LE LF LG LH LJ LK N LU LW LT

35 44 50 11 6.5 45 1.4 - 0.3 6 35 - M3 =

42 54 60 12.5 7.5

A
50 62 70 14 8

anbJo] Bumiwsuel|

80 100 110 22 13 2.5 4.4 0.5 12 4.5 8 M4

Rt

Size

pue uone|eisu|

SA SB SC SD SE SF CX CYy Cz M ST SuU

suononisu MQL,USSSE

35 17 11 23.5 11 17 4 6.5 1 38

8 3.5 M3
42 19.5 11 27 15 21 5 7.5 1 45 8 4.5 M3

8

8

50 24 16 32 20 26 5.2 8 1.5 53 4.5 M3

63 30 20 40 24 30 6.3 10 1.5 66 5.5 M3

80 41 30 52 32 40 8.6 13 2 86 10 6.5 M4

eleq sonsueloeIRy)

¥ CX. CY. CZRIFSERERINR T, *Inner dimensions of CX, CY, CZ are recommended dimensions.

FLEXWAVE WPE5 48



49

M

Flat type D

JR~F3% Dimensions Table

HiAE A58 =8 1M 5E
. )S?q— Weight Moment of inertia
Closed Type, Unit ize kg 10 kg’
35 0.33 0.0227
WPU- |:| - D -CD 42 0.43 0.0565
50 0.61 0.113
63 1.1 0.343
80 2.2 1.18
LE
LF LH
LG - Y
&
=1
S
i
— —_— L- —_— — —
= == @ B S N =
alslgl N A
AN RN Y s e s
I
i
LJ LM
LK
[mm]
R LA LB LC LD LE LF LG LH LJ LK LM N LU
Size
35 49 55 31 425 25 23 0.5 2 5 14.8 1.7 6 35
42 56 62 38 495 | 265 | 245 | 05 2 5 16.3 1.7 10 35
50 64 70 45 58 297 | 277 | 05 2 5 18.8 1.7 12 35
63 79 85 58 73 371 | 34.1 0.5 3 55 23.6 2.6 18 35
80 104 112 78 96 43 40 1 3 55 30.6 25 18 45
);2 SA SB SC SD SE SF CY cz M SuU
35 25 12 11 11 17 4 1 38 10 M3 X 6 M3
42 27 14 11 15 21 5 1 45 8 M5 X 8 M3
50 34 18 16 20 26 5.2 15 53 8 M6 X 9 M3
63 42 24 20 24 30 6.3 15 66 8 M8 X 12 M3
80 57 32 30 32 40 8.6 2 86 10 M8 X 12 M4

¥ CY. CZHIFENEREINRYT,

*Inner dimensions of CY, CZ are recommended dimensions.



#¥2D

Flat type D

suoneoloadg

/ 18pO 1eonpay
e

[ JinHE i

WA HEE | EE B
. 2 Weight Moment of inertia
Closed Type, Unit Size - D=

35 0.46 0.0228
WPU- |:| - D -CDH 42 0.63 0.0571
50 091 0113
63 16 0.344
80 3.0 118

P

a|qeL suoisuawig

LE
LG LF ®)
LtH O-ring

(A)
O-ring

(Buueaq onse|3)
uonewnss a4
(i) Y3 5 Shatt

TN

SF

(Buieaq urely)
uonewnse ajin

) 30 S

oLC
®SB (H7)

®SC

V4

€05

#SD (H7)
#LD (H7)
$LB (h7)

LB (h7)

(;:5

\

Jeys ndul

18 PBO| WNWIXBIA|
ARt
H

—
i O

LJ LN VA
LK 18y
LM RT_'— O-ring -
Size A B
65 345X 0.8 S53
42 S40 S63
50 548 S70
63 S60 S85
80 S80 S115

uonewojul juedlgn|

Juswaiinbal

[mm]

2INIX1} JUBWIYOBNY
K g i

R~

Size LA LB LC LD LE LF LG LH LJ LK LM LN N LU

35 64 70 49 48 22 215 0.5 2.5 3.9 4.9 12.9 2.8 6 3.5 &

42 74 80 59 56 22.7 | 222 0.5 25 1.4 3.7 13.4 2.8 8 3.5
50 84 90 69 64 26.8 | 245 2.3 25 4.3 4.8 16.3 2.8 8 3.5
63 102 110 84 80 315 | 294 2.1 3 3.5 55 18.5 3.4 10 4.5
80 132 142 110 106 37 34.2 2.8 3 25 6 20.5 3.5 10 55

A

anbio| Bumiwsuel

Rt

Size

pue uone|eisu|

SA SB SC SD SE SF Cz M ST SuU

suoIoNJIsuU MQL,USSSE

35 42 30 11 11 17 4 38 8 M3 X 5 M3
42 50 34 11 15 21 5 45 10 M3 X 6 M3

50 60 40 16 20 26 5.2 53 8 M4 X 7 M3

63 73 52 20 24 30 6.3 66 8 M5 X 8 M3
80 96 70 30 32 40 8.6 86 8 M6 X 10 M4

eleq sonsueloeIRy)
o

¥ CZRIFERERNR T, *Inner dimensions of CZ are recommended dimensions.

FLEXWAVE WPZ5 50



JR~F3% Dimensions Table

M

Flat type D

FE G7E8a58 =8 1R 5
. . R~t Weight Moment of inertia
Open type, Simple unit Size kg 10 kg’
35 0.31 0.0233
WPS- D - D -SD 42 0.43 0.0578
50 0.54 0.114
63 0.93 0.347
80 20 1.20
LE
LF LH
LG 0-ring
[
o
YUl =
E E = g N % E
32| s s 3§33
S| & S S| S
0
Cq
<
1 m ">
<&
v Yy RT_" ]
Size O-ring
35 38.0 X 0.8
42 450X 0.8
50 55.0 X 1.2
63 68.0 X 1.2
80 86.0 X 1.2
[mm]
);Z‘z LA LB LC LD LE LF LG LH LJ N LT
35 43 70 50 49 17.5 15.5 2.4 2 15.7 8 M3 X 4.5
42 52 80 61 59 18.5 16.5 3 2 16.9 12 M3 X 4.5
50 61.4 90 71 69 19 17 3 2 17.8 12 M3 X 4.5
63 76 110 88 84 22 20 3.3 2 21.6 12 M4 X 6
80 99 142 114 110 27.9 23.6 3.6 43 27.3 12 M5 X 8
R SA SB SC SF CA CY CZ cV CW M ST SuU
Size
35 64 11 17 4 0.3 1 36.5 1.6 31 8 35 M3
42 74 15 21 5 0.3 1 435 2 37 12 35 M3
50 84 20 26 5.2 0.3 15 53 2 44 12 35 M3
63 102 24 30 6.3 0.3 1.5 66 2 56 12 45 M3
80 132 32 40 8.6 0.5 2 84 2 72 12 55 M4

¥ CV. CW. CY. CZ WIFEREERINRT,

51

*Inner dimensions of CV, CW, CY, CZ are recommended dimensions.



FE AR (Fh=ih)

Open type, Unit (hollow shaft)

WPU-[]-[]-SDH

M-¢ST

LG

LH

LK

B8 {inlkap:2l
R~f Weight Moment of inertia
Size 4 2
kg X10"kgm

65 0.49 0.0839

42 0.66 0.180

50 0.84 0.352

63 14 0.940

80 2.8 3.47

oLD (h7)

INPUT SHAFT FOR 35842

[mm]
gz\z LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
35 43 36 52 70 45.5 19.5 12 14 6.5 7.5 9 25 55 6.5
42 52 45 62 80 48 20.5 12 15.5 7 8.5 10 2.5 55 6.5
50 61.4 50 73 90 42 215 5 156.5 7 8.5 10.5 - - -
63 76 60 87 110 46.5 24 6 16.5 6 10.5 10.5 - - -
80 99 75 114 142 55 28.6 7 19.4 7.5 11.9 12 - - -
);Z\g SA SB SC SD SE SF M ST SU N LT
35 64 - 14 20 74 36 8 3.5 M3 8 M3 X 4.5, ¢ 35X 55
42 74 - 19 25 84 45 12 3.5 M3 12 M3 X 4.5, ¢ 35X 6.5
50 84 25.5 21 30 95 - 12 3.5 M3 X 6 12 M3 X 45, ¢ 3.5 X 6.5
63 102 33.5 29 38 115 - 12 4.5 M3 X 6 12 M4 X 6, @ 4.5 X 85
80 132 48 41 54 147 - 12 5.5 M3 X 6 12 M5 X8, @ 55X76

FLEXWAVE WPF5

#¥2D

Flat type D

suoneoloadg

/ |oPO Jeonpay
e

[ JinHE i

P

(Buueaq onse|3)
uolnewnss ey 9|ge]l suolsuawiq
(i) Y3 5 Shatt

(Buieaq urely)

uolneuliss t}}\‘\
H) 32 B

Jeys ndul

18 PBO| WNWIXBIA|
ARt
H

uonewojul juedlgn|

Juswaiinbal
2INIX1) JUsWYoBNY
X 2 ot

%

A

anbio| Bumiwsuel

suoIoNJIsuU MQL,USSSE
pue uole|eisu|

eleq sonsueloeIRy)




)

Flat type D [&#2D]
Fenlt & CEEEMNEK)  Life estimation (Elastic bearing)

HERASWITE

Life span for the elastic bearing

P el T, ;
Operation cycle example UARCIpALEl ' T, 3
Working torque } T, i T,
| B8]
i ; Time
Ny =2 N3
5 s
SOpuéggt rotation | ¢, t, |t t, ‘ i)
Time
OF95E /1% | R IERIHTE
Calculation formula for output torque
R t 3 ¢ 3 n.t 3
zFié]EﬁUIﬂjj%E Tao Nm Tao:s I’]1. 7¢|7_1| +n2- 2¢|T2| Foeooet [0 n.|7;_’|
Average output torgue net,+n,etyeeen ot
BRI %R Tmo | Nm SO =To Te o T, BIRAME
Peak output torgue value Tmo = Largest among T;, Ty, = T,

BRINRRBH RN T FRARBHEL T,

Please make sure the peak output torque is below the maximum output torque in the specification table.

@FNER | mRESWALERITE

Calculation formula for input speed

Average zg)zui%ﬁtlrjoﬁ%?on speed| 20 R 740 = ”1;:_:'21 t2+r;: :
BEHLLE o | min 0= N e, BRATE
Peak output rotation speed nmo = Largest among n,. Ny, *** N,
Avezrgé?ﬁjw{)\u%%eed nai | r/min  nai=nao X A (R= Xt ) (R =ratio)
Peak%ﬁgﬁsj[}g?divalue nmi | r/min nmi=nmo X /£ (R = @&t ) (R = ratio)

BRHARSEARENBTTFRSBALEEL T

Please make sure the peak input speed value is below the maximum input speed in the specification table.

@F it ERpyit =&

Calculation formula for life span

BB ES T _ Jar o [ nar
Part life span for the elastic bearing Liriz n Lhe = 7000 x Tao nai
E 1156 tar | Nm | TERERTBAERNTIING
Rating torque Nominal output torgue in the specification table

FEMNEEIR i i
Rating input rotation speed nar r/min 2000 r/min

53



#¥2D

Flat type D

/_\ AN AN . . . . . 0 e
Eep1tE (FERA)  Life estimation(Main bearing) g7 00
25 |IR
82 M
sg #
7] % %
([ =Y - — A D, . . . . -~ =
ﬂ?ﬁm/% AP l'l'ﬁ Model selection / Life estimation
W 3 EAFAE (RZ YR F5H7) Main bearing specification(Cross roller bearing) g —Rj
REHEER R%E | EXSTEAST | BAHSTEAR BIF%E TIFENIE ;
Z75| R~t Pitch circle diameter Offset Basic dynamic load| Basic static load Allowable Moment Z
S/e\ries Size of the bearing rollers rating rating moment rigidity
Dm L C Co Mal Km
m m N N Nm X 10" Nm/rad w5 &
35 0.0335 0.0090 5620 6540 36.5 7.35 §§ ﬁ
42 0.0410 0.0095 6340 8170 55.8 8.02 g3 =
WPU-[]-[]-CD | 50 0.0493 0.0105 10400 13300 91.0 135 gs 2
63 0.0615 0.0128 15800 21100 156 27.7 %
80 0.0815 0.0130 24400 35600 313 66.0 2C &
o o
35 0.0505 0.0062 7110 10200 74.0 14.4 3e ﬁ
o &
42 0.0598 0.0066 10900 15200 124 19.7 23 B
WPU-[]-[]-CDH| 50 0.0708 0.0077 17200 24700 187 40.1 =3 =
63 0.0856 0.0092 25100 37400 258 715 &
80 0.114 0.0106 43300 67600 580 188 52 1
35 0.0512 0.0111 8010 11400 37.0 8.86 23 gg
42 0.0614 0.0112 7370 10900 62 20.8 g ﬁ
WPS-[]-[]-SD | 50 0.0715 0.0114 8030 12800 93 22.5 !
for
63 0.0869 0.0128 14300 24500 129 33.3
80 0.113 0.0181 23700 42500 290 84.5 g
35 0.0512 0.0166 8010 11400 37.0 8.86 E =
42 0.0614 0.0177 7370 10900 62 208 g
WPU-[]-[]-SDH| 50 0.0715 0.0179 8030 12800 93 225 5
63 0.0869 0.0213 14300 24500 129 33.3 B
80 0.113 0.0257 23700 42500 290 84.5 gz =
hvi 22 B
W ShER A e £
External load
WPU-[J-[]-CD WPU- [J-[]-CDH WPS-[]-[J-SD WPU- [J-[]-SDH 5|
RS
77
L L L 3 &
Lr L (—T [‘_’ g
| | n
- 3z % |
r@ € 32 B
o [] £ £ £ r <3 2
| a a a L iz M
« J 57
— | Fa 5
Y /\> - J [
v - o
— s &
T %
z iE
:

FLEXWAVE WPZ5 54



55

Flat type D

i

NSNS IF AR Maximum load at input shaft

W AR FIREL, A5

Al) Bearing specification (Open type, Unit)

W A 18 (¥ AFL IR 1 2000r/min. & #pBY[8] : 7000h)
Maximum load (Average input rotation speed : 2000r/min, Life span : 7000h)

100 200

WPU-[]-[]-SDH
800 =35
—_—12
700 —_—0
600 —63
= e 80
% 500
L \
ta g 400
/ O \
o)
Najis 200 N
0 T T T 1

300 400

Hm tafr Fa [N]

Axial load

B A & B
Bearing A Bearing B
z 5| R< BEASETE NS | EXRBSTE N | BEASISTENT | EXBRSHEARE | 4 b
SN ) Basic dynamic load Basic static load Basic dynamic load Basic static load
Series Size rating rating rating rating
@ Co C Co
N N N N mm mm
85 4000 2470 4000 2470 16.0 20.0
42 4300 2950 4300 2950 16.0 22.5
WPU-[1-[]-SDH | 50 4500 3450 4500 3450 145 | 18.0
63 4900 4350 4900 4350 15.5 21.8
80 8800 8500 6400 6200 17.0 28.5
HHA A —
Bearing A EEEEK B
» Bearing B
|
s (=
— =R -
EnS R o




SEE R ubricant information

AE IR fER

Grease

Sumiplex MP No.2 (HZ&{FH BTN =%E)  Sumiplex MP No.2 (SUMICO LUBRICANT CO., LTD.)

FERAEETTE:0 ~ 40°C (IfiEEE) Operating temperature range:0-40°C(ambient temperature)

A1E T R

Grease application

BRUTERTERRVEZIBARFEI BT Please apply grease according to the table below.

W HBEFREEKE Grease application

MRIBRRNOZE A A GEEMNAER @ L AT RE, ZERKEBACHIRHERE,
(BRNDERNAEEE, HR TC (Em) [DEhE.)

OBIRML M £\ Y, iBE TR AASSY ~ P E N EET 8] FI50% HYEB o

BT EIGITE RGBT BB, IBE WAL, [g]
‘The quantity of grease applied to C should be SHRERERL Applied part

adjusted depending on the mounting direction. R~ I C C

C of the unit type product is already filled with Size A B (%) (A1) (EF) D
the same quantity of grease as horizontal Horizontal | Vertical up | Vertical down
mounting. 35 0.2 0.2 3 4 5 0.2
‘For vertical up/down, 50% of the space

between input assy and casing inner wall 42 03 03 S 6 7 0.3
should be filled with grease. 50 0.4 0.4 8 9 11 0.4
‘If the amouht of grease is not sufficient due 63 0.8 0.8 16 19 21 08
to case design, please contact us.
80 1.5 1.5 36 42 48 1.5

B 37BN IREREEAL Grease application location

| WPC-[J-[J-CD | | WPU-[J-[J-CD |
B Eral 1EFE == [E]AY50%
Casing Eﬁ?[EﬂEGSO% ‘
Fill 50% of the gap in volume Pre-applied
D ——— 1] ! I3
o 4 zh I L VA | o S
LI, [ Vertical |
‘ ‘ down %L ﬂ
1 IMANASSY 45 NASSY HAASSY / @)\ASSY
13 gt 8%
oy I B9 dlar
— Vertical M L]
= up 2 (O 11| I ‘
B —
Horizontal PE B = EH50%
| WPU-[]-[]-CDH | | WPS-[-[]-SD |
PE EFE=E50% FE EFR=IEH50%

T
N/

‘ ? / |
Vs / 1 1\"
INASSY B NASSY

/7

ill T T

i

u / | |
[

1
|EE
H |
T

s JEFE=IB50%

17552 181950% FLEXWAVE WPZE3

#¥2D

Flat type D

suoneoloadg
/ 18pO 1eonpay

(Buleaq onse|3)

(Bulreaq urep)
uolewse oy

yeys indup
1e peoj| wnwixep

Juswalinbal

2INIX1} JUBWIYOBNY

suononisu MQL,USSSE

=SESH

xS
NI

[ JfE SR

8|ge] suolsuawi(]

UOIIBWISD )17

uonewoul JUBdLIGN|

anbJo| Bumiwsuel|

pue uone|eisu|

eleq sonsueloeIRy)

56

U

(i) Y3 5 Shatt

=) Y- S

:
B

N i

%

A




mmmmmmmmmmmmmﬂﬂmmw

Flat type D

ZIEFEE  Attachment fixture requirement

B ZE KB E Attachment fixture requirement

| WPC-[1-[]-CD | | WPU-[1-[]-CD |
W <N D
pE 3
7= | I
.
- s Q KIS g Sk
9 o fir| © e 31
it o 5
IR =
TR [mm]  REREE [mm]
Rﬁ €6 42 50 63 80 R.q 85 42 50 63 80
Size Size
a 0.015 0.015 0.018 0.018 0.023 a 0.020 0.020 0.020 0.025 0.025
b 0.010 0.012 0.014 0.016 0.020 b 0.012 0.012 0.014 0.016 0.016
© 0.013 0.013 0.015 0.018 0.020 © 0.016 0.020 0.024 0.024 0.024
d 0.015 0.015 0.018 0.018 0.023
e 0.015 0.015 0.018 0.018 0.023
f 0.012 0.012 0.014 0.016 0.016
g 0.016 0.020 0.024 0.024 0.024
| WPU-[1-[]-CDH | | WPS-[J-(]-SD_|
(L] a |4
- Ol % W
=9 % P |
g } A
=3 NI (L] o A % i O ¢e |
b T I TIEN]
== - £
T 24 © ~ KL
4 #y | E £
7 185
RRNEE [mm]  REEE [mm]
RjL 85 42 50 63 80 RT"— 35 42 50 63 80
Size Size
a 0.020 0.020 0.020 0.025 0.025 a 0.020 0.020 0.020 0.025 0.025
b 0.012 0.012 0.014 0.016 0.016 b 0.020 0.020 0.020 0.025 0.025
© 0.016 0.020 0.024 0.024 0.024 © 0.020 0.020 0.020 0.025 0.025
d 0.012 | 0.012 | 0.014 | 0.016 | 0.016
e 0.016 | 0.020 | 0.024 | 0.024 | 0.024

57



#¥2D

Flat type D

£ S J7%8 Transmitting Torque £2118
25 18 I1R
g§e M
sg #
— ‘e 5
FAENR 4y BLEENEN TR =
Bolting Please refer to the table below for the bolt tightening torque.
o R |
1 g ~f
PR X[E %k . =
Tightening torque for bolts g
B2 R~ Bolt size M3 | M4 | M5 | M6 | M8 | M10 ;
ZEF%E [Nm] |Tightening torque 1.9 43 8.7 15 36 71
BIR2 sBmEXD12.90 F 25 &
. = 3 [=] ]
Recommended bolt : Strength rating above 12.9 %; %
TS5 GAR. Aa8) i35
Bolt specifications and Transmitting torque (Closed type, Unit) %
A= (WPU-[J-[J-CD) Output flange attachment 2C % B
R~ Size 35 42 50 63 80 gk g’g
B R~ Bolt size M3 M5 M6 M8 M8 -
B 42 N Bolt count 10 8 8 8 10 = %
ZIEEPCD [mm] |Bolt PCD 25 27 34 42 57 .
K[EJFE [Nm] |Tightening torque 1.9 8.7 15 36 36 |
£2 7% [Nm] |Transmitting torque 58 141 252 566 960 52
ZEAWHE (WPU-[J-[J-CD) Internal gear attachment 3;? %E
s g
R~ Size 35 42 50 63 80 2o
Be R Bolt size M3 M3 M3 M3 M4 Ay
REAY Bolt count 6 10 12 18 18 —
ZEPCD [mm] |Bolt PCD 49 56 64 79 104 g g
KE% [Nm]  |Tightening torque 1.9 1.9 1.9 1.9 4.3 2 5
fE2 /3% [Nm] |Transmitting torque 68 130 178 330 757 g
ZEBEE= (WPU-[J-[J-CDH) Output flange attachment >
R~F Size 35 42 50 63 80 T
1824 R~ Bolt size M3 M3 M4 M5 M6 g8 =
" o i+
12424 Bolt count 8 10 8 8 8 %g f_g_
ZHPCD [mm] |Bolt PCD 42 50 60 73 96 22 =
XE /7% [Nm] |Tightening torque 1.9 1.9 43 8.7 15 g
£S % [Nm] [Transmitting torque 78 116 194 382 713 e
5 f
ZENRNKEH (WPU-[J-[]-CDH) Internal gear attachment 5 %
3
R~ Size 35 42 50 63 80 g &
MR R~ Bolt size M3 M3 M3 M4 M5 E
1R PR Bolt count 6 8 8 10 10 g
ZEEPCD [mm] |Bolt PCD 64 74 84 102 132 ®
X@E % [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7 83 %
£577%8 [Nm] |Transmitting torque 89 137 156 412 864 e g
EH
TERLR ca
{ Internal gear attachment §

ZREA R
Internal gear attachment

LERHE= /

Output flange attachment

REmE=

Output flange attachment

eleq sonsueloeIRy)
o
H

FLEXWAVE WPZ5 58



Flat type D
£ H3%8 Transmitting Torque

ES H 5B GHnn. serR)

Bolt specifications and Transmitting torque (Closed type, Component)

LERFMINH Flex gear attachment

R~ Size 89 42 50 63 80
Bz R~p Bolt size M3 M4 M4 M5 M6
1222 K Bolt count 8 8 8 8 10
ZHPCD [mm] |Bolt PCD 17 19.5 24 30 41

K[EJ%E [Nm] |Tightening torque 1.9 4.3 4.3 8.7 15
ZEZ )% [Nm] |Transmitting torque 32 63 78 157 380
?’%V\]fﬁtﬁ% Internal gear attachment

R~T Size 35 42 50 63 80
B2z R~ Bolt size M3 M3 M3 M3 M4
RN Bolt count 6 8 12 12 12

ZHPCD [mm] |Bolt PCD 44 54 62 75 100
K[E R [Nm] |Tightening torque 1.9 1.9 1.9 1.9 4.3
£S5 [Nm] |Transmitting torque 61 100 172 209 485

RN

Internal gear attachment \

REXREEE =

Flex gear attachment

£S5 1156 GFma

Bolt specifications and Transmitting torque (Open type)

LIEEFZM IR Flex gear attachment

R~ Size 35 42 50 63 80
Bz R<p Bolt size M3 M3 M3 M4 M5
IR R Bolt count 8 12 12 12 12
Z4PCD [mm] |BoltPCD 64 74 84 102 132
Z[@E % [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7
£S5 [Nm] |Transmitting torque 119 206 234 495 1037
Z%%WJIJAIZE/B Internal gear attachment

Rt Size 35 42 50 63 80
184y R~ Bolt size M3 M3 M3 M4 M5
R ER Bolt count 8 12 12 12 12
ZHEPCD [mm] |Bolt PCD 43 52 61.4 76 99
X[EJ% [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7
2% [Nm] |Transmitting torque 80 145 171 369 778

TEZMER

Flex gear attachment \ |
Dot 5B M LA
ﬁz?i“‘tl&@b JE I E— JEN e S — ?%WJIAJ:IE/E\

7t LEEA
Flex gear attachment [ § RENEHE i Internal ttachment
M ¥ Internal gear attachment ] niernat gear aftachmen
[

—

59



#¥2D

Flat type D

S . . I
SERZEIN Installation and assembly instructions ¢2 12
25 |
g Wl
sg #
s S
B N/ % U 5 B9 32 #2 (wPC-0J-00-C0)) b
Shaft installation instruction |
BN/ W HIERAARERA THENRR AR / MR AT ZEGS, (TEASZE L) : §
RBERERV NS E AR ER T LR IEHITEE, B MR EMEEa. g
Please design the support structure for input shaft and output shaft so that both radial and axial loads are supported. (Diagram %
below shows an example)
Inside thrust load has effect on the cam. Secure cam from the possible axial movement.
75 % |
29 AP
o5 It
L 48 e
Output shaft jLJ:? N ?;E:

1
Ll
(

J
Q 1[_F%_ it shaft :

oo

(Bulreaq urep)
UOIIBWIISD )17
(BEEH) S B

| ety

2
A o 3
it 55 M
J Cam g B
o f
>
fa
s B
2
§
5z % |
£s =
32 B
PN % .
B Y g
L8 1E1T 5
Warm-up run
AEFTRE, EHEINAREIZITZH], BEERBE ST, ;#E
= N ~ SN =, [N 3
ST R S B R A B RS R S B R R At E 2 B, : 3
I AR RS S, BRI R IRTE , Pl 780 &K IE M AR, R
(E&iE1Ta5HEE5) g
- A 7 T fa 5
- BINFOR M1,000r/min LA B4 N\ R 18 12 I3, 88 23X 2 3,000r/min 8= 5f
N— = N n o =z
* 1B17RYE] VN AR £ 2
PN T
- RRERAE  RAE < m
oD
After assembly, "Warm-up run” is necessary before run with load / torque. %a
The purpose is that, Flex gear & Internal gear surface to be coated with grease evenly, %
in order to meet the enough performance with load / torque. a
[Condition example] o
- Load No load s IE
- Input rotation speed Start slowly from 1,000r/min or less, then accelerated and reached to 3,000r/min ‘g ?E
- Test time About 1 hour g
- Output rotation Angle As large as possible g

FLEXWAVE WPF5 60



Flat type D

REMESRIE  Characteristics Data

AEESKE

Transmission Angular Accuracy

1.0
= i e
AEESKEEX
LS & T EANEIERS, Bt bl g2 09 RERSHE
TR AE S L InH LR AERNEE, W
What is Transmission Angular Accuracy? i S 00
w
It is the difference between the measured output E 5
rotation angle and the theoretical angle, while input *¥ § -05 7
shaft is rotated with no load. “
-1.0
0 90 180 270 360
miEERRE (F)
Output shaft rotation angle (deg)
[arc min]
. R~t
IR Size
Rati
o135 42 50 63 80
50 2.0 2.0 1.5 1.0 1.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
MERABENSEE,
Table values are reference values.
S =
/'FH'E*JQQE
Hysteresis Loss
sm e o e fE
IFFE;E!*IEX Twisting angx\e
WANWEE S, B HEmMEwEHMNE07/7%E 1
B A= mIERR
ysteresis LOSS
What is Hysteresis Loss?
When torque load is applied at the output shaft in
alternate direction repeatedly with input shaft fixed, 7V > HiE
there is residual twisting angle when torque is back Torque
to zero. /
In this context, hysteresis loss is the difference in the
forward and backward twisting angle.
[arc min]
s R~t
B, Size
Rati
Ao 13 42 50 63 80
50 2.0 2.0 2.0 2.0 2.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
NERABENSEE,

Table values are reference values.

61



#¥2D

Flat type D

<8 R,
S5 1w
g Wl
sg #
= 4 ak s
RAER
Maximum Backlash [arc sec] L
2 R
Ak gy e | N R~ 8 <F
%*EBQ\IEX BIREL Size 2 %
A . N Ratio @
B\ BR R FA T B AL 4R (4 B AV A L AL Bh 8] R 35 42 50 63 80 g
(RS BB FR A0, P ARG B A G SR A00) 50 27 27 18 16 16 N
What is Maximum Backlash? 80 17 17 11 10 10 |
In this context, maximum backlash is the output 100 13 13 9 8 8 [
backlash f li t i t shaft. (Backlash i %2675
acklas . Qr sp m;& ype input shaft. (Backlash is 120 i 11 7 7 - o2
zero for rigid type input, because gear engagement 82 =
backlash is zero.) 35 =
E‘é
&
DT imR. A am) K1-+7288 0 ~ T, (B HH -2 0
. ‘ Spring coefficient at 0 ~ T, torque gg =1
Stiffness (Closed type, Unit) K2-- 175 T, ~ T, BISEE 2% C T
Spring coefficient at T, ~ T, torque %Eg
R E W K3+ F7%8 T, ~ B9 S
- . . Spring coefficient at T, ~ torque e
& 3 N, R 77 %8 b h0 & B W B O 58 28 B 4K 25 @
S S — 18
What is Stiffness? K, : g ?F
In this context, stiffness is the output shaft twisting o = Q@
angle and the spring coefficient, while torque load is i 2 0 a7
. L . . @O Ut '
applied to the output shaft with input side fixed. 5O ' i —
== K, ! | &
o ! : g B
= | i A
0 T, T, %
' m#NE z -
Load torque L
3z =
- Uoan L RT—'— % % \;I/zj?:
L e i Size i B
Ratio item unit 35 42 50 63 80 g
- T, Nm 2 3.9 7 14 29
- T, Nm 6.9 12 25 48 108 = 5 I
K, X 10'Nm/rad 0.39 0.66 1.1 2.2 4.6 % %
K, X 10*Nmy/rad 0.47 0.75 14 26 5.1 g &
50 Kq X 10*Nmy/rad 052 0.82 1.4 27 5.6 5
a, arcmin 1.7 2.0 2.2 2.2 2.2 I
, 22
6, arcmin 5.0 55 6.3 6.4 7.2 g5 =
g =
K, X 10'Nm/rad 0.44 0.86 1.6 2.9 6.2 s In
80 K, X 10‘Nm/rad 0.60 1.0 1.9 3.2 6.5 5"
100 Ks X 10*"Nm/rad 0.72 1.0 1.9 3.1 6.5 :
120 6, arcmin 1.6 1.6 15 1.7 1.6 2 E
6, arcmin 40 4.1 46 5.2 5.7 S ?é
a.
KERPIHENTIIE, 9
Average value shown in the table o
Q
Y

FLEXWAVE WPF5 62



Flat type D
REMESRIE  Characteristics Data

Boh%E Gtms aam) [cNm]
Starting Torque (Closed type, Unit) R )§g
Ratio
- Y 85 42 50 63 80
Eﬁj’ﬁ%ﬁlﬁx . 50 7.0 11 14 17 26
EEEF]'J)\M”T%EEE—TF—%EETJ EHU)\W\”;Fgél\ﬁﬁi%E/‘]jj 80 6.8 9.5 13 24 26
%, 100 6.4 9.4 11 14 20
(Tt e, IMRRE 1 25°C) 120 - 8.1 9.3 14 20
What is Starting Torque? 1 IRBERAEGAE, REFEER, MULEREASE
Input torque needed for input side to start rotating (no (EREDZEN
load, ambient temperature : 25T) %2 NE IR NI R B2 4 S A e 5 PR I P SR BV &2
mr,
*1 For reference only. Torque value may vary depending on the
condition.

*2 Charts does not show effects due to rotation resistance of

Z-"] EE EjJ jj %E bearings and oil seals on the input side. -

(HAB. AER) R
Output Starting Torque(Closed type, Unit) ﬁlﬁtb Size

- . A I 42 50 63 80
MERBRNHIEE X 50 12 | 36 | 44 | 58 13
FE a0 M0 EL e A5 Y, B M FF SR TR ¥2 B9 70 80 16 3.9 7.2 13 26
%Eo 100 1.7 5.7 8.6 9.4 23
(Tt 76, FRERE 1 25°C) 120 | - [ 42 | 871 | 10 | 90
What is Output Starting Torque? %1 Eggﬁ%%#ﬂﬁ], BEFEER, FLLRENSE
Output torque needed for output side 10 SWart ., X iimes )\ i I BRI HOBER I N TR IVE
rotating (no load, ambient temperature : 25T) o

*1 For reference only. Torque value may vary depending on the
condition.

*2 Charts does not show effects due to rotation resistance of
bearings and oil seals on the input side.

[cNm]
T fer i 7158 ey | AR R~
(%;j-PHgE\ gﬂéﬂ) Ratio Input rotation
No-load Running Torque speed % 42 >0 63 80
(Closed type, Unit) 500r/min 3.4 7.5 9.2 17 35
1000r/min 4.3 8.2 11 18 37
TH iz NIEE X % Too0onmin | 50 | 85 13 18 39
AEATEHT, EEREME 3500r/min | 5.4 11 14 22 38
o= DN bak =N 500r/min 3.2 7.6 10 20 35
(FEME, RRE 1 25°C) 50 1000r/min | 4.0 8.7 12 21 38
What is No-load Running Torque? 2000r/min 4.8 8.9 14 22 39
Input torque needed to keep it 3500r/min 5.2 11 14 24 38
running with no load (average value, 500r/min 3.2 71 11 21 36
ambient temperature : 25TC) 10001 /min 40 82 13 23 39
100 2000r/min 4.7 8.4 14 24 39
3500r/min 5.1 9.7 14 25 38
500r/min - 6.7 9.8 23 40
120 1000r/min - 8.1 12 24 41
2000r/min - 8.4 13 26 41
3500r/min - 8.4 13 26 39

X1 REERFETR, WEFTEER, MULRIFEANSEERA.
%2 NEFERE NN hE K IR M A S 8 ied% 1B /1P SRAYSZIE.
*1 For reference only. Torque value may vary depending on the condition.

*2 Charts does not show effects due to rotation resistance of bearings and
oil seals on the input side.

63



D

Flat type D

23
8E 1k
g2
gz Hl
Ol 33 (£ AR 4 A A = 2
MR (HAR AER)
Efficiency (Closed type, Unit) |
g R
g
N[ %] I/ B IFFY % -Percentile Load (%) is equal to load torque divided by é =
allowable average torque. 5
EeIN =] . o B >
MRRE 125°C -Ambient temperature : 25C &
. . N *1 These diagrams represent the average value of the actual
1 ER NN SRS THIE, e e ¢
N = NesEsy K A HE ) ) . = [
M2 A BN K M A S RV Be R R *2 Charts does not show effects due to rotation resistance of &@)é‘ f
TR RAYR I, bearings and oil seals on the input side. 5% o
32 =
B e
i
®
55 =
B E]’j
is ¥
- E
i
&
WPU-35-50 WPU-35-80 R
T
I
100 100 22 i
= 500 r/min e 500 r/min g B
90 || e 1000 r/min 90 " —== 1000 r/min o IF
e 2000 1/min e 2000 r/min il
> 80 [ e 3500 r/min > 80 [ wme 3500 r/min G
_E 70 _E 70 E—
XS] XS] §
T 60 — T 60 ; A
= 7
& 50 £ 50 §
B a0 ¥ 40 5
= y/ = = 7z j
30 30 |
P
[0 = i
20 20 £8
23 15
10 10 22 =
0 20 40 60 80 100 0 20 40 60 80 100 B
faf (%] Percentile Load fafa [%] Percentile Load @
5 1%
2 =2
B
WPU-35-100 E
I}
100 e
@ 500 r/min “
90 e 1000 r/min
e 2000 r/min T o= |
~. 80 || === 3500 r/min 23 x
%) ¢s =
§ 70 g% =
o 60 P ]
S 50 ///__ 2
i 4/6222235’7
= 40 ng;) ﬁ
30 g E54
[}
20 7 i3
@
10 g
0 20 40 60 80 100 &

fafd [%] Percentile Load

FLEXWRAVE WPZ3 64



65

g

Flat type D
REMESRIE  Characteristics Data

R (HIAR AER)
Efficiency (Closed type, Unit)

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25T
*1 These diagrams represent the average value of the
actual measurement.
*2 Charts does not show effects due to rotation resistance of

AT %] S BT %E
WIRRE 25°C

%1 BENSNSERA T E,

2 TN 4 NN SR R R B A 5 0 e % PR

IR RV, bearings and oil seals on the input side.
WPU-42-50 WPU-42-80
100 100
@ 500 r/min @ 500 r/min
90 [ e 1000 r/min 90 | e 1000 r/min
s 2000 r/min @ms 2000 r/min
. 80 | e 3500 r/min - 80 [ w3500 r/min
o 70 o© 70
£ £ //
L 60 L 60 /
x50 x50
¥ 40 # 40
= / =
30 / 30 /
20 20 ¢
/7
10 10
20 40 60 80 100 20 40 60 80 100
faf (%] Percentile Load fafar [%] Percentile Load
WPU-42-100 WPU-42-120
100 100
@ 500 r/min @ 500 r/min
90 e 1000 r/min 90 @ 1000 r/min
e 2000 r/min wms 2000 r/min
> 80 [ = 3500 r/min > 80 s 3500 r/min
5 70 B 70 —
L 9]
60 //’ w60 / —
£ 50 — £ 50
B 40 //// ¥ 40 /
= y/ /2 =
30 30
20 20 4
10 10
80 100 20 40 60 80 100

0 20

40 60
fafm [%] Percentile Load

fafa [%] Percentile Load



R (HIAR AER)
Efficiency (Closed type, Unit)

AT %] S BT %E

WIRRE 25°C

%1 BERSNSERA T E,

2 TN B NN SR R B B A 5 0 e i PR
FFF B,

WPU-50-50
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 | e 3500 r/min
8 /
@ 70
. ——
= 50
¥ 40
&
30 7/
20
10
0 20 40 60 80 100
fafm [%] Percentile Load
WPU-50-100
100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 { e 3500 r/min
2
o 70
ks}
L 60
= 50
¥ 40
&
30
20 4
10
0 20 40 60 80 100

fafm [%] Percentile Load

D

Flat type D

%§ ﬂza\
oS 18R
g Wl
sg #
7] § %
1z
-Percentile Load (%) is equal to load torque divided by § =
allowable average torque. é
‘Ambient temperature : 25T >
*1 These diagrams represent the average value of the
actual measurement. L
*2 Charts does not show effects due to rotation resistance of &@)% f
bearings and oil seals on the input side. i% s@
22 B
e~ @
&
ih
®
§5 3
o8 M
i 4
s 2
- E3
i
&
WPU'50-80 5 =Z 4»4\ [
gy %
o 3
100 55 il
e 500 r/min g &
90 || emm= 1000 r/min o IF
e 2000 r/min -
. 80 [ ===3500 r/min Gl
]
c
o 70 - .
o 60 g 7B
— 2 F
X 50 <§
M 40 -
ﬁ =}
30 |
iz =
20 =5 K
10 ﬁ rE
0 20 40 60 80 100 T T
it [%] Percentile Load @
5 &
@ =]
ERN
WPU-50-120 = 7
3
100 g
@ 500 r/min °
90 @ 1000 r/min
s 2000 r/min o = — |
. 80 [ ====3500 r/min 23 x
8 / g% %
o 70 g5 =
& = 2z W
0 60 — £2
5 = §
S 50 2
M /-
= 40 ng;) %
30 3 g
5]
20 g
&
10 g
0 20 40 60 80 100 &
it [%] Percentile Load
FLEXWAVE WP%5 66



67

S

Flat type D
REMESRIE  Characteristics Data

R (HIAR AER)
Efficiency (Closed type, Unit)

Jﬁ\ﬁ[%] R /BT 5 ‘Percentile Load (%) is equal to load torque divided by
allowable average torque.
N =] . o B
MRRE 125°C -Ambient temperature : 25C
. . N *1 These diagrams represent the average value of the
1 ER NSRS THIE, YR ¢
%0 R & 3 £ * 7 A e ‘ ) )
M2 A BN R 4 A SR RO Be ¥ R *2 Charts does not show effects due to rotation resistance of
TIPSR B R0 bearings and oil seals on the input side.
WPU-63-50 WPU-63-80
100 100
@ 500 r/min @ 500 r/min
90 [ e 1000 r/min 90 | e 1000 r/min
s 2000 r/min @ms 2000 r/min
. 80 | e 3500 r/min - 80 [ w3500 r/min
2 2
o 70 o© 70
o 3]
L 60 L 60
x50 x50
B 40 // b 40
/4 :
30 // 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
faf (%] Percentile Load fafar [%] Percentile Load
WPU-63-100 WPU-63-120
100 100
@ 500 r/min @ 500 r/min
90 e 1000 r/min 90 @ 1000 r/min
e 2000 r/min wms 2000 r/min
> 80 [ = 3500 r/min > 80 [ s 3500 r/min
5 70 G 70 —
£ & P
L 60 L 60 //
= 50 = 50
8 40 M 40 //
& &
30 / 30
20 20 &
10 10
0 20 40 60 80 100 0 20 40 60 80 100
fafm [%] Percentile Load fafa [%] Percentile Load



R (HIAR AER)
Efficiency (Closed type, Unit)

AT %] S BT %E

WIRRE 25°C

%1 BERSNSERA T E,

2 TN B NN SR R B B A 5 0 e i PR
FFF B,

WPU-80-50
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 | e 3500 r/min
2
o 70
k)
L 60
= 50
¥ 40
&
30
20
10
0 20 40 60 80 100
fafm [%] Percentile Load
WPU-80-100
100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 { e 3500 r/min
2
o 70
ks}
L 60
= 50
¥ 40
&
30 /
20
10
0 20 40 60 80 100

fafm [%] Percentile Load

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
‘Ambient temperature : 25T
*1 These diagrams represent the average value of the
actual measurement.
*2 Charts does not show effects due to rotation resistance of
bearings and oil seals on the input side.

WPU-80-80

100

@ 500 r/min
90 | e 1000 r/min
s 2000 r/min
80 [ w3500 r/min

D

Flat type D

>
2
© 70
O
L 60
= 50
# 40 /
& /
30 /
20
10
0 20 40 60 80 100
fafa [%] Percentile Load
WPU-80-120
100
@ 500 r/min
90 [ = 1000 r/min
wms 2000 r/min
. 80 [ w3500 r/min
2
o 70
O
L 60
=X 50
W , /
= 0
30
20
10
0 20 40 60 80 100
fafa [%] Percentile Load

FLEXWRAVE WP%5

LT M

T © /|8

S & Rm

38

cf B

28 =

o =

- ~—

2 R

g

g

(2]

o'

o

(0]

75 %

2 o ﬁ

o2 <

T

Q =

3% s

T B
i
®

,\C [

55 &

38 [:IE]

g5 1T

2 B

Qs §
i
&

o

g3 M

)

o f

-
il
1a]

§

=]

2 A

2

g

3

=

B

S

o E 7

£

3o =

E

32

=

C

@

5

2 7

3 4

3

o

<

()

N

52 =

§§ IS

g =

20 Iﬁ

£z

Q

5

e

2 %

S iz

2

2

7]

[w)

Q

&

68




69

Gearhead type
YR A BY = Reducer Model Nomenclature

S

WP

35

50

CR

8AA5

YA

Series name
WPZ7I

WP Series

@EL IR Availability

xKE

type

G ARy

Gearhead type

R~

Size
35
42
50
63
80

AGEEL

Ratio
50
80

100

120

160

L83

Code

2 B NFEE 92000/ min IR BIFRAE
%3 BEh. ELERNBSFRAE

XA BEEEFR, FHRARRNBIFRAE
%5 TENER, MABRRNBFRAE

%6 HINFLIR2000r/min, RYFFIE /75 G RB HF dbda)

RERMAE

Mount code

Ratio matrix
@ \ R 50 80 100 120 160 '>I<'1i%ﬁ;ﬁéﬁ%ﬁf&%??%%moﬂﬁﬂﬂSﬁﬁWJD?LE@“)EJZiEMﬁTEIE”i’fﬁﬁ%i)\oﬂﬂﬁﬂiﬁﬂz
@ *1 Mount code varies depending on the motor selection. Please refer to the
GE) 35 ‘Reducer Selection Tool' found on our website for further details, or alternatively
© 42 please contact us for more information.
- 50
63
80
N N B .
TR N FN 4 Reducer Specifications
X2 %3 %4 %5 %6
\ BRI BUBA B BURH -
JBIEREL yayEl yayEl RAFR RNFER ;
RT—'— Ratio Nominal output Maximum output Nominal Maximum input Life
Size R torque torque input speed speed
[Nm] [(Nm] [r/min] [r/min] [hours]
50 7 23
35 80 10 30 3000 8500
100 10 36
50 21 44
80 29 56
42 100 31 70 3000 7300
120 31 70
50 33 73
80 44 96
50 100 52 107 3000 6500
120 52 113
160 52 120 10000
50 51 127
80 82 178
63 100 87 204 3000 5600
120 87 217
160 87 229
50 99 281
80 153 395
80 100 178 433 3000 4800
120 178 459
160 178 484

*2 The maximum allowable value at the input rotation speed of 2000r/min
*3 The maximum torque when starting and stopping.
*4 The maximum average input speed.
*5 The maximum input speed.

*6 The life time at the input rotation speed of 2000 r/min and nominal output torque



R

Gearhead
type

R~ 3% Dimensions Table

=Ry aw | o c
BRFEE 58
==z &
Gearhead Type g5 o
oo =
NG RE
Internal gear attachment 5 :3
RHEZRE == 2 R
Output flange 3 T
@ attachment a 11 2 &
- =
’ fY)
] &
=il
@ FEEIN  Precautions
S5
47 == = \ S ALy N 2 s > =z 3773 NI g g ooan
REETHHZZEIHLA=80ET, BEAWHEN O LB, SiER A RGIEEEERY R, S5t
When attaching equipment parts to the output flange, use the supplied O-rings or implement your own grease leakage gg %%
prevention measures. =T %’
52 &4
MRBRESRCESENA/N, BREsIERBTR, BEHIER. iz Z
Continuous operation in one direction or small oscillation angle may cause lubrication failure. Qé\/
il
WPG-35- [1 -CR-8 [1 ((i\ilifZ= 8) 3%
(Input shaft diameter = 8) £5 3
pisl
815 (% 1)
27 545 (% 1) |

35 L 25 155 (1) L-MLX 9 (1)

0-ring
$29x 90.5 52 {%1)

R

—t

18 i

?50

Lt

—J
>/
L

0

®173
®»56 h7
®31
AL
630(G7) (#1)
za
NS

5 (1) #8(G7) (% 1)

135] 32 {%1) L6 (1)

X1, FERNRINARE FTENZEEN, RIY2BRFR.

*1. The length depends on the motor.

FLEXWAVE WPE5 70



Gearhead type

JR~F3% Dimensions Table

WPG-42- [1-CR-8 [1 (3aANHiE= 8)

(Input shaft diameter = 8)

845 [ 1)
29 555 (% 1)
0-ring L % 26 15.5 [ 1) b-MEX 9 [x 1)

$34.5% 908
6-M5x 10 152 (% 1)

Sy

__/

215° 300

#50

$79

®63 h1

438

V)(W_H)7

(|

1]
®30(G7) (%1
Qd

Q]

5 (1) ®8IG7) (% 1)

195] 32 (%1) PL6 (1)

X1, BRI AARE. ARNREEN, RS SBARRES
2. PR S KIRECEBFT A,

X3, BT RREN AR BRI, A REme s,

*1. The length depends on the motor.

*2. The actual placement may differ.
*3. These bolts are for reducer assembly purposes and do not affect installation.

WPG-42- [1-CR-14 [ (8< BAHE= 14)

(8<Input shaft diameter =14)

89.5 (1) 4-M5x 11 (% 1)

o 29 60.5 (1)
225 30°
0-ring A 1L 30 16.5 (1) [J65 (% 1)

) 5(x1) =
] ! \

934.5x $0.8
6-M5x% 10 S
'RV - — ° i -
R I ; o \
\H .
'J

79
$63 h1
#38
#10 H
[

J
@50(G7) (% 1)

I

J/
i - 53{\://)&/

meill

5 (x 1) 214(G7) (% 1)

195] 35 (# 1) $70 (% 1)

1. EERNRT IARE FRANZESB, RI=BFATE.
%2, PJRES KIRECEB PR

X3, BT R RENARBEE, Al FrEmei.

*1. The length depends on the motor.

*2. The actual placement may differ.
*3. These bolts are for reducer assembly purposes and do not affect installation.

71



WPG-50- [1-CR-8 [1 (3sANHiE= 8)

(Input shaft diameter = 8)

8-M6x 10

<
&
o
&

\ SO yx
X
3)
#H\EJ/E

E

0-ring

87 (x1)

28

59 (x1)

16

215

15.5 (1)

1. LEBR T HREME FRNREBH, R 2EHATHE,

%2, AJRE S KIRECEBFTTR,

X3, TR AR AR AR, A REmed.

*1. The length depends on the motor.
*2. The actual placement may differ.

*3. These bolts are for reducer assembly purposes and do not affect installation.

WPG-50- [] -CR-14 [J (8< HiN#iE= 14)

R

Gearhead
type

2D 3R
8o 18 m®
)
sz %
(ncz %
— ~
L-MLx 9 [#1)
[J52 (1)
2 R
: g
— 2
3
A ‘
[Z N
! a g
\iZ ’
Ku/){
|
T D
8 (G7) (% 1) ® ®
22
L ewsixu ] 55
2B
53
20
g5
52
o O
82
58
@5

L=M5X 11 (1)

[J65 [ 1)

=

BLO.64LX D114
= F :I' 2
-] i =
= |= H LS
I N | =
Y g s il ] } \:,
IS
=
T\ | D
5 (x1)
32 (1)
(8<Input shaft diameter =14)
92 (1)
28 64 (% 1)
0-ring
SL0.6Lx DT 5 16 35 16.5 (% 1)
mag
— |
L :
I
] _
= |= - - ®
25| e M =
s E Y ‘f[ | g
<
=
N
M
—J
5 (%1)
35 (% 1)

X1, FENRTARERE ARNREBN, RFT =B E.

X2, FlRe S KIRECEBPRTE

X3, AT RAERVAERERE, AT meE,

*1. The length depends on the motor.
*2. The actual placement may differ.

*3. These bolts are for reducer assembly purposes and do not affect installation.

FLEXWAVE WPF5

N

141G7) (% 1)

#70 (% 1)

55 ¥
g3 B
52 bt
@z
LT
Q;A; \4
) %

%

72



S

Gearhead type

JR~F3% Dimensions Table

WPG-63- [] -CR-14 [ (8< A= )14)

(8<Input shaft diameter =14

100 (1)

36 6L (1) L-M5x 11 (3 1)

0-ring
$53.29% 0.99 5 16 315 16.5 (% 1)
65 (1)
] six1) = /\\\
o I
Ny

$62

2107
86 n7
58
$20 H7
L1

-

T

\

Il
$50(G7) (3 1

|

J
A\ = :::I Can R

5 (%) @14(G7) (1)

12 35 (1) ?70 (%)

X1, BRI AARE.ARNREEN, RT 2B
%2. AR 5L InEEBFI A,

X3, BT RREN AR BRI, Al fREme .

*1. The length depends on the motor.

*2. The actual placement may differ.
*3. These bolts are for reducer assembly purposes and do not affect installation.

WPG-63- [1-CR-19 [1 (14< A= 19)

(14<Input shaft diameter =19)

109 (1) L-M6X 13 (1)

36 73 (% 1)
0-ring 25 (%1 80 (%1
PP 5 16 32 (1) 80 (% 1)

<
©
e

O

Ll [

.

@107
#86 h1
?58
$20 H1

|
I
®70(G7) (%1)

L
]

L T I \
QC —— ‘ \Q/\ s

~]

N

—

\

6 (% 1) #19(G7) (% 1)

12 50 (x 1) 290 (1)

1. EERNRT IARE FRANZESB, RI=BFATE.
%2, PJRES KIRECEB PR

X3, BT R RENARBEE, Al FrEmei.

*1. The length depends on the motor.

*2. The actual placement may differ.
*3. These bolts are for reducer assembly purposes and do not affect installation.

73



R

Gearhead
type

28 R
P SR 8
WPG-80- [] -CR-14 [ (8< fA:hiE= 14) 2 8
(8<Input shaft diameter £14) 38 =
1B [%1)
45 73 (%1)
0-ring 5 20 36.5 16.5 (1)
ST 4L-M5X 11 % 1)
: 65 (% 1) =] R
i : o
2 2
— —— (=]
= St < X g
S E = ! \) °
NG
L] TR
M 55 B%
a 5 (1) P57 (1) EE
|15 | 35 (% ) 70 (% 1) ss %%
%1, FEMRTHRFE FRNRESBN, RTR2ERFH. ;s 2%
%2, IEE S RIFR B, EF
%3. BT RBEN AL ARR, AL TEmRE, &
*1. The length depends on the motor. Ep——
*2. The actual placement may differ. 29 /E
*3. These bolts are for reducer assembly purposes and do not affect installation. 25 %E‘iJ
42 §5 3
WPG-80- (1 -CR-19 [0 (14< IAIE= 19) 2
(14<Input shaft diameter =19)
127 (1) -

45 82 (1)

0-ring 5 20 37 25 (1)
ST L-M6X 13 (¥ 1)

— 080 (% 1)

7.=_

i H }fﬁl\\
N

L]

?138
$113 h17
@78
26 H7

$70(GT) (x

6 (%) #19(G7) (1)
15 50 (1) 290 {x1)

1, FENRTARKRE FRNZEBN, RT =B RE.
%2, Plee SR InEEEBFIRE,

%3, HTFZRERN AR AR, AR,

*1. The length depends on the motor.

*2. The actual placement may differ.
*3. These bolts are for reducer assembly purposes and do not affect installation.

FLEXWAVE WPE5 74




S

Gearhead type

EHepi1tE GCEBERNA)  Life estimation (Elastic bearing)

HEARIESHEP 12
Please check the formula on p. 12

EHepitE (F5hA)  Life estimation(Main bearing)

W 33 A (352/%3?5537%) Main bearing specification(Cross roller bearing)

R EER (orEg=i BEAMSEIE A | BARRSTEN BEFI%E TIFENIE
Z7 R~ Pitch circle diameter Offset Basic dynamic load| Basic static load Allowable Moment
- ) of the bearing rollers rating rating moment rigidity
Series Size
Dm L C Co Mal Km
m m N N Nm X 10*Nm/rad
85 0.0350 0.0095 4700 6070 41 4.38
42 0.0425 0.0095 5290 7550 64 7.75
WPG-[ - -CR | 50 0.0500 0.0095 5780 9000 91 12.8
63 0.0620 0.0115 9600 15100 156 24.2
80 0.0800 0.0130 15000 25000 313 53.9
Fr, | |
Fr, ! %
[ PragaEasit] AR ! | Fry .
Operation cycle example Radial load ! Fry THﬂfﬂ
Fa,
Fa,
B8 S 7 I
Axial load Fa, ;
Time
ni ke Ng |
i "\ \
Output rotation B8]
speed t t, |43 ] t ‘ Time
W ShER A e
External load Lr L
§ ]
-0 ||
A VAR 1N o .
i
© £ I
= Fa S|
: L |

HTEARANESRP.14
Please check the formula on p. 14

75




SE& R Jubricant information

A BFIRIER crease

Sumiplex SFB No.1 (HA I EBE Ik =5E)  Sumiplex SFB No.1 (SUMICO LUBRICANT CO., LTD.)
FERAEETTE:0 ~ 40°C (IfiERE) Operating temperature range:0-40C (ambient temperature)

B, R A B E S NIEBE, I EEER.

Grease is already sealed inside the reducer at the factory, so it can be used as it is.

S %8 Transmitting Torque

ﬁ%ﬂ%% Bolting
1R 22 RE NI TR
WU R ZNENRBENERER, JESNEFEEES, FILUEERHIA.

Please refer to the table below for the bolt tightening torque.
Please be noted that the transmittable torque varies depending on the bolt count and tightening torque.

E,?iﬁ',%[ﬂjj%ﬁ Tightening torque for bolts

1244 R~ Bolt size M3 | M4 [ M5 [ M6 | M8 [ M0 BINIEZ: sBEXD12.9L0 F
REH%E [Nm] |Tightening torque 19 | 43 | 87 | 15 | 36 | 71  Recommended bolt :
Strength rating above 12.9

1?%7] %E Bolt specifications and Transmitting torque

TEEH A= Output flange attachment

R~ Size 35 42 50 63 80
B2 Rt Bolt size M4 M5 M6 M8 M10
B ER Bolt count 6 6 3 8 8
ZEPCD [mm] |Bolt PCD 23 27 32 42 55
K[E R [Nm] |Tightening torque 4.3 8.7 15 36 71
2734 [Nm] |Transmitting torque 56 106 238 566 1177

ZERNKH (CR) Internal gear attachment

R~ Size 6] 42 50 63 80
184y R~t Bolt size M4 M4 M5 M5 M6
R ER Bolt count 8 8 3 10 12
ZHEPCD [mm] |Bolt PCD 65 71 82 96 125
X[@EJ%E [Nm]  |Tightening torque 4.3 4.3 8.7 8.7 15
fE2 /3% [Nm] |Transmitting torque 210 230 430 629 1392
RERNUH
Internal gear attachment e :]
A
LTREREE= —
Output flange NN 737777777
attachment
|
1

FLEXWAVE WPF5

R

Gearhead

type

SESH

S|

suoneonoads
[ JnfE

/ |epo\ J1eonpey

R

8|qe] suoisuswiq

() SIS At
[ (@i ST Sh i

(Burieaq urepy) uonewnss sy

s
S i

SHnsE /

anbuoj Bunnwsuesp
Juoljewojul Juealgny |/(Buiieaq onse|3) uonewnsa ay

o
m

76



N

JEFFY

—All for dreams

% N - —
EiREfEmiRA (1) BIRAE
NIDEC DRIVE TECHNOLOGY (ZHEJIANG) CORPORATION

R4k : 314200

Mol ARSI & X TR 518585
L% 545 : 0573-8509-3022 (1R &)
http://www.nidec-drivetechnology.com.cn/

202409-0.5NV 409308





